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c1I *, 1b '.3*1 fii '3 cl*1I*1k c1  5T fRTT '.lIIi I 
(iii) -i1 -4kcii' TT cP'1 i -i Eei .-i) fz1T '.lIcII * 3TT1'[ \344kC1k i'i 'i' -i1 fT \5IIc1I *, ?t '.3*1 Mv-I 

g iit TU[ Rciq,i I'ki t 9 cPI 15 9  I 
Note: English version of the instructions is printed on the back cover of this Booklet. 
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1. From which of the following Harappan Civilization 1. ui 1TlT 

sites, we find evidences of water conservation? 'ii c1 1°T Th 

(a) Lothal (b) Kalibanga
(a) (b) l)lI 

(c) Mohenjo-daro (d) Dholavira (c) 1:r c1 (d) kii1'i 

2. On the bank of which river "the battle often kings" 2.  viPsici cllji " fir -i 

mentioned in Rigveda, took place? 

(a) Parushni (b) Sutudri 

(C) Vipasha (d) Vitasta 

3. The term 'Hindustan' was used for the first time in 

the inscriptions of which dynasty? 

(a) Mauryan (b) Sassanian 

(C) Kushan (d) Mughal 

4. Match list - I with list - II and select the correct 

answer using the code given below the lists — 

List-I List -il 

.(Harappan site) (Crop) 

(A) Chanhudaro (1) Sesame 

(B) Harappa (2) Kodo 

(C) Kuntasi (3) Rice 

(D) Hulas (4) Mustard  

ci. tt clI i.ii 

(a) i'j) 

(C) {LlII 

• 'I1hl' I5T ckci ft5T I\jlclI 

3iTt? 

(a) 44 (b)  

Code- 

(a)A-1,B-2,C--3,D-4 (a) A-1,B-2,C-3,D-4 

(b) A-2,B-4,C-1,D-3 (b) A-2,B-4,C-1,D-3 

(C) A-4,B-1,C-2,D-3 (c) A-4,B-1,C-2,D-3 

(d) A-3, B-2,C-4,D-1 (d) A-3, B-2,C-4,D-1 

5. Which of the following rulers of the Chola dynasty 5. -ikiRici tiki ci * II'(-Icl7  

assumed the title of 'Shhpad Shekhar'? 1IciqI4 mf1 m"r cf t? 

(a) Rajraja-I (b) Parantaka-I (a)  — :l-1:E (b) 1'I'c14 — 

(C) Rajendra - I (d) Rajendra - II (c)  — (d) 'I'i'l-c — 1cilL1 
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6. Consider the following foreign travellers and 

arrange them in chronological order — 

(I) l-Tsing 

(II) Al-Baruni 

(III) Fa-Hien 

(IV) Yuan-Chwang 

Select the correct answer using the code given 

below- 

(a) I, II, III, Iv (b) iv, III, II, I 

(C) III, Iv, I, ii (d) Iv, II, III, I 

7. Which of the following (Dynasty — Founder) is not 

correctly matched? 

(a) Sangam — Harihar-I 

(b) Tuluva — Krishnadeva Raya 

(C) Saluva — Narsimha Saluva 

(d) Aravidu —Tirumala 

The meaning of 'Deh' in Mughal period was -  

6. 11;lps1c1 1i) ii1If ii 1ltii' 121T 

'3'1Ct CIpII 11T1 ct1jt. — 

(I) kiI 

(II) 3Tf—N 

(HI) Y- ITh1 

(IV) f—riTr 

. f \31 T 1FT q — 

(a) I, II, III, IV (b) IV; III, II, I 

(C) III, IV, I, II (d) Iv, II, HI, I 

7. 11l1sic1 t qk—T (cj  —  irq) Tg 

1ici i) t? 
(a) -j1.i-1 — 

(b) ,CiI — I1I 'IL1 

(C) rrr — dCII 

(d) 1'IPI'— ki'9IcI! 

8. Ic'icc1 T dIcI4 1il i? 

(a) District (b) Commissioner (a) fr (b) -j  (c.1') 

(C) Village (d) None of these (c) jj (d) ct;1  ii 

Which of the following foreign travellers has 

mentioned the legend of 'Anarkali'? 

(a) Ralph Fitch (b) William Hawkins 

(C) William Finch (d) Sir Thomas Roe 

Which of the following is not correctly matched? 

(a) Band — Messenger 

(b) Sadaka — Charity 

(C) Muqaddam — Village Headman 

(d) Sarkhel — Chief of Infantry 

11. Which of the following (Revolts during Shah Jahan's 

Reign — Leader of the Revolt) is not correctly 

matched? 

(a) Revolt of Kangra — Jagat Singh 

(b) Revolt of Bundelkhand — Champat Ral 

(C) Revolt of Bhils in Malwa — Laxman Singh 

(d) Tibet Revolt — Abdal  

9. i11ci f 1i T1t k 'lIcP1' 

cf   utrr*? 

(a) jq fj (b) {[j.j I1b'1 

(C) 11ii f'Er (d)  .Thri r 

10. 111c1 Rici 'i 

(a) — ' -IIcHcP 

(b) HcPI cml 

(c)  — II-I 5T RsI1i 

(d) — I T [1 

11. lI1Ic1 4i1—]T (II'Jl IId'l cPIel 

1i'i — 1c I5T 'lc1I) fm ii t? 

(a) tiI, I wr Ic'i — 'iIIc1 fr 

(b) —  I'-1 

(c) i-j — tr f 

(d) I€sici Icl — 314Ic1 

8.  

9.  

10.  
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12. Which of the following Sultans of Delhi imposed 

'Jizya tax' on Brahmins for the first time? 

(a) Ghiyasuddin Tughlaq 

(b) Firoz Shah lughlaq 

(c) Alauddin Khalji 

(d) Aram Shah 

13. With reference to the Delhi Sultanate which of the 

following statement(s) is/are correct? 

(1) Qutub minar was dedicated to the Sufi saint, 

Qutb-ud-din Bakhtiyar Kaki. 

(2) The tower was damaged by lightening in 1369. 

Select the correct answer using the Code given 

below- 

(a) Only 1 (b) Only 2 

(C) Both 1 & 2 (d) Neither 1 nor 2 

14. Who was the author of 'Tabaqat-i-Akbari'?  

12. IISIc1 f 

tR trf  IRNi cp' eiulVil? 

(a) IiI'1 ¶,4 lcicP 

(b) Rbui il Icict 

(c) 3ç1l-j PS4Q1'J1 

(d)  

13. Rev 'Id {i1  5T9f 

c- 9T/ 

(1)I 1'ii' 'Hc1 1—'34-4'H 1ii 

mN1i1c1 l 

(2) 1i'ii' 1liic Th cplcUj 1369 iR*ci 

l 

.1 

(a) cte1 1 (b) cjcç 2 

(c) 1T2c'H (d)19T2 

14. 'c kcict t1i ? 

(a) Bhimsen Kayasth (b) Badauni (a) Th-i'I-i cpIl (b) ci4't 

(C) Abu) Fazl (d) Nizamuddin (C) 3j (d) 1iii 

15. 'Gizali'wasthefamouswriterduringwhOSePeriOd? 15. '{iic'1' bicI cticl IsIc1 lcll 

(a) Balban 

(C) Akbar 

(b) Alauddin Khalji 

(d) Jahangir 

(a)  

(c) 

 

 

16. Which of the following texts was translated into 

Persian under the title 'Bahr-ul-Asmar' during the 

reign of Akbar? 

(a) Panchatantra (b) Arthashastra 

(c) Rajatarangini (d) Yoga Vasistha 

17. The 'Therigatha' in Buddhist literature is related to 

which of the following bodies? 

(a) Majjhima —Nikaya (b) Samyukta — Nikaya 

(c) Anguttara — Nikaya (d) Khuddaka — Nikaya  

16. - 1llI 3TI5R * ll'thl cpk'j f5f TQT 

T —'3c'1---3111N' 9I*'l. 

311I4 fzii iii? 

(a) 4zci'-i (b) 

(C) c1'fu1) (d) Ii i1ii 

17. '(1I1cI 'T[] iRi1ci 

(a) ii[iii — 

(c) — Pcpii 

(b) *jcrci — 

(d) — 
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18. With reference to the Puranas, which of the 

following statements is/are correct? 

(1) Vishnu Purana is considered more reliable for 

the history of Mauryans. 

(2) Matsya Purana is considered more reliable for 

the history of Andhras. 

Select the correct answer using the code given 

below - 

(a) Only 1 (b) Only 2 

(c) Both 1 & 2 (d) Neither 1 nor 2 

19. Originally 'Bhagwat Geeta' is part of which Parva of 

Mahabharat? 

(a) Bhishma Parva (b) Drona Parva 

(C) Shanti Parva (d) Anushasan parva 

20. In which of the following literary works, some parts 

are found from the architectural work namely 

'Adhai Din Ka ihonpra'? 

(a) Prithviraj Vijay (b) Harikeli Natak 

(C) Prithviraj Raso (ci) Kirti Kaumudi 

21. Who said for the first time about the Indian 

National Congress that, "it is representing only a 

microscopic minority class"? 

(a)ftq4 (b)uqc 

(C) q 4 (ci) 

20.  

3TT fkT T 1l' '1I1ct CII*1 

(a) j'il {~ljj. (b) RRi Ict- 

(C) cikii 'l'-I') (d) jff qc) 

21. 1riir icifl ct-.'k)-i €i-r 

l)l -lT, '-1 cIcI ct —3cf 

c4 clI rfrr th *'? 

(a) Lord Dufferin (b) Lord Curzon (a)  4R'1 (b)  C)\j 

(c) Lord Minto (d) Lord Irwin (c)  ft (d)  c11nl 

22. With reference to the French East India Company, 

which of the following statement(s) is/are correct? 

(1) French East India Company was founded in 

1664. 

(2) The first French Factory in India was established 

in Pondicherry. 

Select the correct answer using the code given 

below: 

(a) Only 1 (b) Only 2 

(C) Both 1 & 2 (d) Neither 1 nor 2 

22.   e 1i k 11ci 

(1)tk)' -c 1ii c4-' c Q1Tt19T 1664t 

(2) RW[ E4I tl)  

ifrr c l 

- 

(a) cjcIç,  1 (b) CC1CI 2 

(C) 'l.-'j12 (d)1rr2 
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23. Match list — I with list — II and select the correct 23. 

answer from the code given below the lists - 

List—I List—Il 

—1 ct u—lI R'ici ctc{i 

* 11E f ii 1 

(Newspaper) (Language) 
&rTT) ('ji-ilt1l tr) 

(A) Comrade (1) Bengali  _____ 
(A) (1) lII 

(B) Navjivan (2) English 

(C) Swadesamitran (3) Gujarati 
(B) cI (2) 

(D) Sulabh Samachar (4) Tamil 
(C) -ifti'-i (3) iid) 

Code: 
(D)fl[ -j9IzI' (4)Icl 

(a)A-2,B-3,C-4,D—i 
(a) A-2,B---3,C-4,D-1 

(b) A-3,B-2,C—i,D-4
(b) A-3,B-2,C--i,D-4 

(c) A—i, B-2,C-3, D-4 (c) A—i, B-2, C-3, D-4 

(d) A-4, B-3,C-2,D-1 (d) A-4, B-3,C-2,D—i 

24. Who was the author of 'The Philosophy of the 24. ' I'i 'Itl5 * cscp cp'k ? 

Bomb'? _____ (a) (b) iicil TJT  
(a) Bhagat Singh (b) Bhagwati Charan 

Vohra (c) cc c (d) 'k- ñT1 

(c) Batukeshwar Datta (d) Rash Behari Bose 

25. Given below are two statements, one is labelled as 25. 494[ cl,'1 TThT9 (A) 

Assertion (A) and other as Reason(R) - c- c') ct)IUI (R)   ILII * — 

Assertion (A) : Bhagat Singh, completely and (A) : 'I'TT fTc t d'  3Th 1ci-t 
consciously, was a secular

I 

thinker. 
lUl (R): 

Reason (R): He used to say that, "Communalism 
I4 lIcPclI '3c11I [T 

is also as big enemy as the British ______ 
* Ilc1'iI [b 3TT3 q1iciic 

colonialism and we have to face it." _____ 
ctI iscil ,cPI€ltl ct, lI 

Select the correct answer using the code given 

f -t T c LI '1 

c- 

(a) (R)3* (A)c'l'1' '-IcL1 * 3Thf (R),(A)c 

cLlN3LU Ctvç1I * 

(b) (R)3ft (A) cH') 1cLI * f5 (R),(A)Clcl 

rT cLliLII cçjj * 

(c) (A) f5 (R) flcicl * 

(d) (A) ic'icl *, t5 (R) ' -lcLl* 
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(a) Both (R) and (A) are true and (R) is correct 

explanation of (A) 

(b) Both (R) and (A) are true and but (R) is not 

correct explanation of (A) 

(c) (A) is true but (R) is false 

(d) (A) is false but (R) is true 
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26. In whichcity of United Provinces (presently Uttar 

Pradesh) a meeting of the revolutionaries from all 

parts of India was called in 1924? 

(a) Lucknow (b) Meerut 

(c) Bareilly (d) Kanpur 

27. Which of the following was the main objective of 

the 'Eka movement' in Awadh? 

(a) Non-payment of taxes 

(b) Protection of the rights of landlords 

(c) Conversion of taxes into cash 

(d) Opposition of the British Rule 

28. To whom Lord Mountbatten called 'One-Man 

Boundary Force'? 

(a) Mahatma Gandhi 

(b) Vallabh Bhai Pátel 

(c) Jawaharlal Nehru 

(d) Dr. B.R. Ambedkar 

29. "India, that is Bharat, shall be Union of States", 

(Indian Constitution). The word 'Union' is derived 

from the Constitution of which country? 

(a) U.S.A. (b) Switzerland 

(c) Canada (d) Australia 

30. Which of the following pairs (Act — Year) is not 

correctly matched under the Constitution of India? 

(a) Hindu Succession Act — 1956 

(b) Hindu Marriage Act — 1955 

(C) Sati (Prevention) Act — 1987 

(d) Jammu & Kashmir Re-organisation Act — 1918 

31. Traditionally 'Zero Hour' in the Parliament of India 

begins at - 

(a) At 9:00 A.M. (b) At 10:00 A.M. 

(C) At 11:00A.M. (d) At 12:00 Noon  

26. 1924 rt llc1 (cicll-jl_f \icI' * 

* 4 U ci1jcIR  qc t5 

 t? 

(a)  

27.
§, 4)l 3114'lci'i' 5T T 3j 

i11c1 ri ii? 

(a) QIII1 T3PTTT 

(b) &1rf q') 

(c) Il'-I 'jc4c q1cc -t CIlI 

(d) 3f - j <M 5T fiT 'ii 

28.  1l'c7j 't' 

cJ '6fflc1 fir? 

(a) -iIc-I  Tfl 

(b)  

(C) 'iij  

(d) t 3IT. Scj 

29. 3T ITT TZt T ct '-jI '1II 

(ii tItiir) I ij 'i' 
frf-Th1 •;ri fzrr i '-I I 

(a) -j . (b)  

(c) cljII (d) 

30. 

 (&1fp — c) 

(a) \tl'Ii(pN 3T IRE1T[ — 1956 

(b) fmi 3IifkzN — 1955 

(c) I1T (fkT) &Ifk?lT1 — 1987 

(d) i-i- -l4cT 3T 11RTE — 1918 

31 Y NIci ' 'Ie1' f5T 

4TT )c1I — 

(a) 9:00  WIc1:c4,Icl (b) 10:00 €l lIc1:cPJcl 

(C) 11:00 lc1:clie1 (d) 12:00 
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32. In such situation, when the Speaker has to vacate 

his seat in the State Legislative Assembly, he will 

submit his resignation in his own handwriting with 

signatures to whom among the following? 

(a) Governor of the State 

(b) Chief Minister of the State 

(C) Minister of Law & Justice of the State 

(d) Deputy Speaker of the State Legislative 

Assembly 

33. Which of the following statement(s) is/are correct 

regarding appointment of District Judges in India? 

(1) They are appointed by the Governor of the State 

only. 

(2) They are appointed by the Governor of the State 

with consultation of the State High Court. 

Select the answer using the code given below - 

(a) Only 1 (b) Only 2 

(c) Both 1&2 (d) Neither 1 nor 2 

34. Which of the following is not a fundamental duty? 

(a) To protect and improve the natural 

environment. 

(b) To strive towards abolition of untouchability. 

(C) To cherish and follow the noble ideas which 

inspired our national struggle for 

independence. 

(d) To develop scientific temper, humanism and 

spirit of inquiry and reform. 

35. Which of the following Articles of Indian 

Constitution is related to the 'Uniform Civil Code'? 

(a) Article 41 (b) Article 42 

(c) Article 43 (d) Article 44  

32: tfjff , i-j6i 'j'rj t1T9PIT * 3TETT 

ct  3Tq ft r, ci c-I I I q  .,i 

3Tq *dc 1lT Tkc1 i1u1s 

t ii? 

(a)  

(b)  clTh?t t'1 

(C)  ci -iv 

frii znm 

c —T/ T 

(1)3'1c1 f1?t' ccç 'i'r- kI 

3lT * I 

(2)31ct1 'I''-1 'i'r'-l'-1Ic'l kI <I'r4 

'3ci II1 c  5iT *1 

Co 

(a) cIcIe1 1 (b) ccic'I 2 

(C) 11t2 (d)t19T2 

34. {{ j    4{icp 

(a) mRjcp -i1cii ct) ZT c T9 cp1I I 

Co (b) I—c'i'1 ftrq m -i ct -fl I 

(c) c4 's1I 

cD \'ICPI 3fUI ctiI, III'I1 9Tt HThR1T 

ftw i1i .  c  ThT tZrFI 

(d) ){cp fcp'1ui, 9I1cicUct jf 

c cf1 1TF1T T fIcPk1 cilI I 

35. 

cll—rr 'iii 'ii'iR '-iIcii 1iIci *? 

(a) tkc 41 (b) 3ik 42 

(C) rkc 43 (d) 34-zi 44 
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36. Consider the following events and arrange them in 

chronological order: 

(I) Sajjan Singh Case 

(II) Berubari Case 

(Ill) Golaknath Case 

(IV) Kesavananda Bharati Case 

Select the correct answer using the code given 

below- 

(a) II, I, III, IV (b) I, II, IV, Ill 
(C) Ill, I, II, IV (d) Iv, Ill, I, II 

37. Which of the following Articles of the Indian 

Constitution is related to the power of the 

President of granting Pardon? 

(a) Article 72 (b) Article 78 

(c) Article 80 (d) Article 81 

38. Which of the following (State — Number of 

Members in Lok Sabha) is not correctly matched? 

(a) Gujarat-26 (b) Jhark1and-16 

(C) Haryana—lO (d) Himachal Pradesh-4 

39. Which of the following is a court of record? 

(a) Supreme Court 

(b) High Court 

(c) Both Supreme Court & High Court 00 

(d) Lower Courts 

40. Which of the following Articles of the Indian 

Constitution provides provision for a Public Services 

Comrhission for the Union and a Public Service 

Commission for each state? 

(a) Article 312 (b) Article 315 

(c) Article 318 (d) Article 320 

41. From which Article of the Indian Constitution, the 

Supreme Court has enumerated the Right to 

Livelihood, Right to Privacy, Right to Dignity and 

Right to Hearing? 

(a) Article 19 (b) Article 20 

(c) Article 21 (d) Article 22  

36.  uc1I3 1 cfti1j r-ir 

q, c Rr cfj- 

(I) - 'l-1 ftc c  

(II)  

(Ill) 

(IV) clIc.-l-,  r c;' 

f I c  c T?1T cj 'i 

(a) II, I, Ill, IV (b) I, II, l\I, Ill 

(c) Ill, I, II, IV (d) IV, III, I, II 

4f1TT 11cl 
c—T Ttq 81T 

1ci t? 
(a) 72 (b) 78 

(C) 80 (d) 31t*,c 81 

38. jçj (I'J.Ll — 1TRT 

-R- l) Tt 

(a) j,lId —26 (b)  — 16 

(c) RIull — 10 (d) 1iii PT —4 

IIc1 cj— 3f cpl l-1ld 

(a) icIt IiIc'1 

(b) '3rx  

(C) ck'1 CDtI -II-llc1 Lc4 3v I1lc1Ll 

(d) ITf?T llLIlc'il 

40. 

c4l_lT q  Ict ki c-'Icl, 

frt c'i'lct' lc1i 3TRf11T  TTTh1 cbc1l 

(a) 312 (b) 315 

(c) 318 (d) 320 

41. Tf1?.TF1 tTJ 3tkc 

Illl c i1)Rlctl cpl 'rfr, frrm ciI 

3TT, --ti'-i ci 3TkT5T Lc4 '-lcIJ ct,I 

&fm Pk 
(a) 19 (b) tc20 

(C) 21 (d) f,t22 

cfr 
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42. Who said that, "The Directive Principles of the State 

Policy are the onlypious aspirations of the noble 

souls"? 

(a) Ivor Jennings (b) K.C. Wheare 

(c) Granville Austin (d) Lord Acton 

43. Match list — I with list — II and select the correct 

answer using the code given below — 

List —I 

(A) Part XV of Constitution 

(B) Part XVII of Constitution 

(C) Part XVIII of Constitution 

(D) Part XX of Constitution 

List —Il 

(1) Official Language 

(2) Elections 

(3) Amendment of Constitution 

(4) Emergency Provisions 

Code - 

(a) (A)-2,(B)-3,(C)-4,(D)-1 

(b) (A)-2,(B)-1,(C)-4,(D)-3 

(C) (A)-4,(B)-3,(C)-1,(D)-2 

(ci) (A)-1,(B)-4,(C)-2,(D)-3 

44. Which of the following (Part of Indian Constitution 

— Subject) is not correctly matched? 

(a) Part—Il — Citizenship 

(b) Part—Ill — Fundamental Rights 

(C) Part -IV — Directive Principles of State Policy 

(d) Part—V — Fundamental Duties 

45. Who was the founder of 'Republican Party of 

India'? 

(a) Charu Majumdar (b) Dr. B.R. Ambedkar 

(C) Subhash Chandra (d) Dr. Rammanohar 

Bose Lohiya 

46. Public Accounts Committee has the following 

members: (Give the correct answer) - 

(a) (Lok Sabha) - 11, (Rajya Sabha) - 05, (Total) - 16 

(b) (Lok Sabha) - 15, (Rajya Sabha) - 07, (Total) - 22 

(C) (Lok Sabha) - 10, (Rajya Sabha) - 05, (Total) - 15 

(d) (Lok Sabha) - 17, (Rajya Sabha) - 10, (Total) - 27  

42. 1) cpI -1T I5, 'is * 11ft IC cic'l 

U4 ç9 eIIi C  trf &FWIT 1I 

(a) 3lTR ¼J'ui1 (b) 

(c) 3iift:;[ (ci) c'lI' c1c'1 

3-i I z1 I 1 tfi (. — 

(A) [fT19 I5T 11T XV 

(B) .TF[ 5T TPT XVII 

(C) [f1TE f5T ITTF XVIII 

(D) [fTh[ i flT1 xx 

—Il 

(1) ]TT 

(2) 1lci1i'i 

(3) fTT 

(4) 3IT11 1€IT 

ct \c — 

(a) (A)-2,(B)-3,(C)-4,(D)-1 

(b) (A)-2,(B)-1,(C)-4,(D)-3 

(C) (A)-4,(B)-3,(C)-1,(D)-2 

(d) (A)-1,(B)-4,(C)-2,(D)-3 

44. { 

— 1i) lt jRici 'i  ? 

(a) WT_Il_.1IIIcic1I 

(b) T—III—Ii{P 3Ttfl 

(c) IPT—IV —'l'sMlkl PIcP RfI'c1 

(d) _v-1ct bfT 

45. ' qç fq 

(a) t1I  11cI (b) t. ftu. 

(C) tfrc (d) t 

ci'l 1 -1 I 

46. ç cp — i i1iRsici E 

: (r '3th Ri) — 

(a) (c1'lcp rii) -11, ('l's'1 T1T) -05, (LI'ull) -16 

(b) (c'I'Ic T1T) - 15, ('i's T']T) -07, (L1'II) -22 

(c)  FIT) -1O,(I'i.i FrT) -os,(-Ik) -15 

(d) (cu1cP TIT) - 17, (i-i rIT) - 10, (.u)'i) - 27 
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47 With reference to the reservation of seats for 

women in Panchayati Raj institutions, which of the 

following statement(s) is/are correct? 

(1) It is provided in the Article 243D (3) of the Indian 

Constitution. 

(2) The reservation shall cease to have effect on the 

expiration of the period specified in Article 334. 

Select the correct answer from the code given 
below— 

(a) Only 1 (b) Only 2 

(c) Both 1 & 2 (d) Neither 1 Nor 2 

48. The Autonomous District Council under the 6th 

Schedule of the Constitution of India is not 

operative to which of the following states of North 

East India? 

(a) Assam (b) Tripura 

(c) Nagaland (d) Meghalaya 

49. Which one amongst the following rivers flows 

through a rift valley? 

(a) Mahanadi (b) Tungabhadra 

(C) Krishna (d) Tapi 

50. Match List — I with List — II and select the correct 

answer using the code given below: 

List—I List—Il 
(Shifting Agriculture) (State) 

(A) Ponam (1) Odisha 

(B) Beera (2) Kerala 

(C) Jhum (3) Madhya Pradesh 

(D) Podu (4) Assam 

Code: 

(a) (A)-1,(B)-2,(C)-3,(D)4 

(b) (A)-2,(B)-3,(C)-4,(D)1 

(c) (A)-3,(B)-4,(C)-1,(D)2 

(d) (A)-4,(B)-1,(C)-3,(D)2 

51. Which of the following 

'Panchnad'? 

(a) Sutlej (b) Beas 

(C) Indus (d) ihelum  

47.  1Q1T3t 9-f9T3If fr rrf 

, i1fcI — i/ 

*/*? 

(1) 1cbl lT111 Tf1TI 3' 243  (3) 

fi iii * i 

(2)  3I1T 334 fl1 irf ci) 

TITRT 1T cf) tT wTrt 'l ii I 

cbcL fk — 

(a) ccç,j 1 (b) cCcI 2 

(c)  if 2 (d)   1F  2 

48. -tkcl'I ft.1Tj cf rr -1Rl 

ftTT 1TfF c  z   — f 
i's-I tR c'i I 9f t? 

(a) (b) frgci 

(C) .ilIlU (d) rgj 

9 i11ci .i1q'i ci-4 j tff 

cn1i ith 

(a) -i'i4) (b) 

(c) II (d) ijt 

50. —  lc — il M 

—1 —ll 

( II l'c1 UuIT 

(A) tpp[ 

(B)  

(C) Si 

(D) t 

'Lz1.lc 

(a) (A)-1,(B)-2,(C)-3,(D)4 

(b) (A)-2,(B)-3,(C)-4,(D)1 

(c) (A) -3, (B) -4, (C) -1, (D) -2 

(d) (A)-4,(B)-1,(C)-3,(D)..2 

rivers is not included in 51.  

111c1 9t *? 

(a) çj 

(C) ft-s 
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52. Which one of the following (Railway Zone — 52. scl c1—'-Il (c'il 'iIl'l — 

Headquarters) is not correctly matched? ir ili rt *? 

(a) South Central Railway — Bengaluru (a) iJ  — 

(b) South — East Central Railway — Bilaspur (b) --frui — t TI — 

(C) South Western Railway — Hubli (C) --f --  tft- — 

(d) West Central Railway—iabalPUr — 

53• Which of the following (Mines — State) is not 53. Pii--iFI1d ct1-9T (slcl.l — rT) 91 

correctly matched? r1FT rt t? 

(a) Dantewada—Madhya Pradesh (a) cIjI —ET TT 

(b) Sandur— Karnataka (b) —  

(c) Noamundi—iharkhand (C) 

(d) Bailadila — Chhattisgarh (d)  — 

54. hjchofthefollowing(BioSphereResee5—State) 54 -iR1ci ct-i-ii (u c — 

is not correctly matched? TT) fici rf *? 

(a) Seshacha!am—Andhra Pradesh
(a) IItic -1 —ir 

(b) Cold Desert— Himachal Pradesh (b) cic' ''jlc — {-IItici IT 

(C) Dehang Debang — Uttarakhand (c) ll kiii —  

(d) Kanchenjunga—Sikkirn (d) llj — 

55. Which one of the following Bioreserves of India is 55 RTT clI, i11Ic1 ct)-N-1l f -- 

not included in the World Network of Bioreserves?
¶lT PTkR t5lF I{1c1  

(a) Manas (b) Nilgiri
(a)  (b) { 

(c) Gulf of Mannar (d) Nandadevi (C)  q (d)  

56. Match list — I with list — II and select the correct 56. — I cp') Ef — II IIcI cj1 l{ 

I1 Cl 'dI' cpI f?f 

(A) Khetri (1) Bauxite 

(B) Giridih (2) Copper
(A) (1) IcNIc 

(C) Sundergarh (3) Coal
(B) P)1 

(D)Koraput (4) Iron Ore (C)I (3)cb'i-IcI 

Code: (D) cp'R1 (4) c'l  31F 

(a) (A)-2,(B)-3,(C)-4,(D)-1 

(b) (A) -2, (B) -4, (C) -1, (D) -3 (a) (A) -2, (B) -3, (C) -4, (D) -1 

(c) (A)-4,(B)-2,(C)-3,(D)-1
(b) (A)2,(B)4,(C)1,(D)3 

(c) (A)-4,(B)-2,(C)-3,(D)-1 

(d) (A)-1,(B)-2,(C)-3,(D)-4 (d) (A)-1,(B)-2,(C)-3,(D)-4 

{23-A]-134101 Page 12 of 32 
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57. Which of the following states does not share its 

border with Bhutan? 

1 Sikkim 

2 West Bengal 

3 Assam 

4 Meghalaya 

Select the correct answer from the code given 

below: 

(a) lonly (b) 2 only 

(C) Both3&4 (d) 4 only 

58. Which of the following (Multipurpose Project — 

River) is not correctly matched? 

(a) Thein—Ravi (b) Salal — Chenab 

(c) Ukai — Banas (d) Bansagar—Son 

59. Which of the following is not a Hydo — Power based 

project? 

(a) Koldam (b) Rammam 

(C) Singrauli (d) Jhanor 

60. Which of the following petroleum producing area is 

not located in the state of Gujarat? 

(a) Navagam (b) Kosamba 

(c) Kalol (d) Moran 

61. Which of the following (Pass — State/Union 

Territory) is not correctly matched? 

(a) Banihal —Jammu & Kashmir 

(b) Debsa — Himachal Pradesh 

(C) Niti — Uttrakhand 

(d) Chang La—Sikkim 

62. Which of the following (Research Institute — 

Location) is not correctly matched? 

(a) Forest Research Institute — Dehradun 

(b) Arid Forest Research Institute — Jodhpur 

(c) Institute of Wood Science and Technology — 

Hyderabad 

(d) Himalyan Forest Research Institute — Shimla 

57. iIiIci 

[ *? 

1  

2 -1zf9 GILIIci 

3 3PEN 

4 1Ik'i4 

(a)  1 (b) cc4çl 2 

(C) cl'i'i 3f 4 (d) cjcij 4 

58. 1sci q;1—T Ri-i 

(a) 1 —'.Ic11 (b)  —RfrlT 

(C) 'PI — NI*I (d) IUI*fl4I — *i'l-i 

59. c ç qIi* \Jl('l—IcT jI1TffT 

I1'hl'1I i'i *? 

(a) q)' Q j1 (b)  

(C)  (d) I-j 

60. 1iRi1ci t 4— 19 clIccP 

'ijIc1 fir .ii *2 
(a) .1clII4-$ (b) ci,')W-lI 

(c) cpel'lcl (d) -u1' -1 

61. IIcl cji.i—ii (c — I'r/ci  IIr11 
ki) Fci .ii *? 

(a)  — 

(b) II — I1IzlQ1 lT 

(c) 4rf —  

(d) ji1 — { iRFcp -I 

62. F-iR1  

Tt I*R1 'i  t? 
(a) Ff 3TTFf r1Tr —  

(b) 31N — ñT 

(c) Riiii 4 uf)c6) mzr  —  

IIIc 

(d) I1Ic 3-1T — IN1clI 
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63. Which is India's first 14-Lane Expressway? 63. iwi ii i.iii 14-H -tl -Il4 (N1 -i) 

(a) Mumbai - Pune Expressway 

(a) -  

(b) Agra - Lucknow Expressway 
(b) iir - 

(C) Delhi - Meerut Expressway 
(C) 1~.) -  

(d) Yamuna Expressway (d) zj 1.c-Ikil 

64. How many states of India are situated along the 64. rrm * Ibci.I I'J ctcSI tR fftt ? 
coastline? 

(a) 9 (b) 10
(a) 9 (b) 10 

(c) 11 (d) 12
(C) 11 (d) 12 

65. In which of the following rivers is the 'Majuli River 

Island' situated? 

(a) Ganga (b) Brahmaputra 

(C) Godavari (d) Krishna  

65.  )q 

fT1T ? 

(a) 'iH (b) 

(c) I'1qIC1 (d) 

66. On which of the following hills-range is 66. t t)-i'-1 ii') 

'Doddabetta' peak situated? 
sI'tRfTt*? 

(a) Nilgiri Hills (b) Anaimalai Hills _________  
(a) II) 14I{1I (b) 1.l1.11 

(C) Nallamala Hills (d) Cardamom Hills (C) 1c'z'll1IclI qi1ii (d) cPI' -l'9 qi1ii 

67. WhichofthefollowinglakesissharedbytwoStates 67. [Ic1 i'-t*i ?tr urr ir 

of India? ri flIT ct '1 iith *? 

(a) Pulicat (b) Chilka (a) {lcpc (b) 1i 

(C) Lonar (d) Sambhar (C) el'1-Ik . (d) 

68. Which of the following sentence(s) is/are correct? 

(1) Natural gas occurs in Gondwana beds. 

(2) Mica occurs in abundance in Kodarma. 

(3) Dharwar rocks are famous for petroleum. 

Select the correct answer from the code given 

below— 

(a) Onlyl&2 (b) Only2 

(C) Only 2 & 3 (d) Only 1 & 3  

68.  15Tt 'j1l/ t/? 

(1) icIcp 1I I'lcH'1I 1*c1' qI 91?t *.l 

(2) 3TW cP'l'1I l-fl4 'I-1I '.ljc1l * I 

(3) I'1l'S tii'1 'uFII * fr i1 *1 

(a) cbl132 (b) cict2 

(c) cc'123fi3 (d) ck'i13ft3 
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69. PMI Index shows trends in which of the following 

sectors? 

(1) Service 

(2) Manufacturing 

(3) Agriculture 

(4) Export 

Select the correct answer using the code given 

below- 

(a) 1 and 2 (b) 2 and 3 

(C) 1, 2 and 3 (d) 1, 2, 3 and 4 

70. Match List-I with List-Il and select the correct 

answer using the code given below the lists — 

List-I (Scheme) 

(A) SMILE 

B) SE HAT 

(C) SVANidhi 

(D) SARTHAQ 

List-Il (Union Ministry) 

(1) Defence 

(2) Housing & Urban Affairs 

(3) Education 

(4) Social Justice & Empowerment 

Code - 

(a) A-4, B-i, C-2, D-3 (b) A-2, B-4, C-i, D-3 

(c) A-3, B-2, C-4, D-i (d) A-i, B-2, C-3, D-4 

71. Which of the following committee incorporated for 

the first time private expenditure on health and 

education while estimating poverty in India? 

(a) Lakdawala (b) Rangarajan 

Committee Committee 

(c) Sen Committee (d) Tendulkar 

Committee 

69. ct,Icp ld fI t5i 

1c) icRiui cp')  cI1c1I *? 

(iyT - 

(2) RIP-I1tji 

(3yf 

(4)11ci 

; f Tf' \3l T ETT 

(a) 13ft2 (b) 233 

(C) 1, 2 3 (d) i, 2, 3 4 

70. —l —llRlci riji* 

*—I (1'1I) 

(A)1Iei 

(B)T 

(C)r1rIr 

(D)IT2 

t —II (-i1  ijii.q) 

(i)T 

(2)31TRT cl 1II  

(3)f1T 

(4) 1I -IIIicp '1I.?.I 1 i1icui 

(a) A-4, B-i, C-2, D-3 (b) A-2, B-4, C-i, D.-3 

(C) A-3, B-2, C-4, D-i (d) A-i, B-2, C-3, D-4 

71. i1iRci f i[:jR I'I 'iiu 

I ct ci -, c, tr1 i I t 1r 'i 

 CIkI ft?i c  cI-i'l -?t iiIIc'l 1T I'L1I 

(a) cIcIIclI (b) lili *iftlRl 

(C) k 11I1?I (d)  1I1I 
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(b) Indian Rupee 

(ci) Euro 

(a) SDR. 

(c) Yen. 

(d)  (C)  H 

(c) ' 39.45 Lakh Crore (d) '48.55 Lakh Crore 
(C) 39.45 cp'l (d) 48.55 9T 

76. Which !:the following is/are correct goals to 

India's àspirations in 'Amrit kaal' for the Union 

Budget Mi2022-23? 

I- Focus on growth and all-inclusive welfare 

II- Promoting technology-enabled development 

(a) Onlyl (b) Onlyll 

(C) Both I & II (d) Neither I nor II 

III I III I I'll III IIIIIIIII [23-A]-134101 Page 16 of 32 

72. From 1 April, 2022 what surcharge has been levied 

on Long-Term capital gain on all types of assets? 

(a) 7.5 Percent (b) 10 Percent 

(C) 12.5Percent (d) 15 Percent 

73. After theUS Dollar-denominated debt, which of the 

following currency-denominated debt is the second 

largest component in India's external debt at the 

end of December 2021? 

72. 1 3If, 2022 cCt) lcPt' 1c) R4?ii 

4)cpie)i ¶ 3T1fN c  tR 1bciii 3TfT 

31kFlc1 f5r II 

(a) 7.5lkIcl (b) 10iRIc1 

(C) 12.5 WIlc1 (d) 15 4RIlc1 

73. zj 'cl' * lIIc1 UI * lIc, 1 -1 2021 

* iiI i   nr 

(a)  l3rr. (b) 

74. In whichc the state, world's first Nano-Urea Plant 

C) 
has beelilbaugurated by P.M. Narendra Modi? 

(a) Haryana (b) Uttar Pradesh 

(c) Madtla Pradesh (d) Gujarat 

75. Accordirgto the Union Budget 2022-23, how much 

total exenditure has been estimated? 

(a) 34.83 Lakh Crore (b) 37.70 Lakh Crore 

74. 9'1-s *1 

4- T5T cIc1 f9 N-II 

(a) {Iujj (b) \3T1' rki 

(c) TZ (d) 'jt<Ic1 

75. F5Th 2022-23*11Hl', Ct el IciI 

T5T 311I1 t? 

(a) 34.83 i-r cp<') (b) 37.70' •ii• 
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77. Match List-I with List-Il and select the correct 

answer using the code given below — 

List-I (Yàjana) List-lI (Year) 

77. —Il• q3 

*4—i (i'1ii.ii) —ii () 
A- Atmanirbhar Bharat i- 2019 

1- 2019 A- 3TIP :l-R1 

B- PM-WAN I 2- Dec. 2020 Btf_1Tt?t 2-1i-i'2O2O 

C- PM-KUSUM 3- 20i8 3- 2018 CtE—f 

D- Ayushman Bharat 4- Nov2t20 D-3iiiii ITTF 4- -tcI- 2020 

Code— 

(a) A-i, B-2, C-3, D-4 (b) A-4, B-3, D-1 (a) A-i, 8-2, C-3, D-4 (b) A-4, B-3, C-2, D-1 

(C) A-4, B-2, C-i, D-3 (d) A-i, B-4, C-3, D-2 (c) A-4, B-2, C-i, D-3 (d) A-i, B-4, C-3, D-2 

78. Which of the following Committee was not related 78. IiIsici cti*il IIlI 1Ic1MPlcP ti 

to the consolidation of Public Sector Banks? 99fTT -ti *? 

(a)  -i{1?i 
(a) Narasimhan Committee (N 

(b) 
(b) Leeladhar Committee 

(C) kI'jll (c) Rangarajan Committee 

(d) Nayak Committee (d) lI1t 

79 Poverty estimation in India is carried out by - 79. r 3Icci-t ' -ici TT fRiJT  'iltcll 

00 ? 
(a) National Planning Commission C\1 (a) iii &rthi 

(b) NITI Aayog's Task Force (b) 1ft 31TftTF T ctIc 

(c) National Statistical Commission (C) li *iiI.s.icil 3ITZfr1T 

(d) National Poverty Commission (d) <I'k I'1€1 31TZiPT 

80. Which of the following schemes was not launched 80. --iIIc1 Lim-iI cI 2015 

00 
1n2015? 

(a) ii cj.-J 1TJT 'lil1f 
(a) PM Jeevan Jyoti Bima Yojana ,-., 

(b) t?ti jT 1T 1')'ii1I (b) PM Suraksha Bima Yojana 

(c) PM Fasal Bima Yojana (c) tii  4i-  Lil\j1..-tl 

(d) Atal Pension Yojana (d) 3T1 1TT 1'jt'ii 
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81. Primary deficit is measured by which of the 

following? 

(a) Revenue Receipts — Revenue Expenditure 

(b) Capital Receipts — Interest Payment 

(c) Fiscal Deficit — Interest Payment 

(d) Fiscal Receipts — Interest Payment 

82. Which of the following is/are example(s) of transfer 

payments? 

1. Unemployment allowance 

2. Payment of salary 

3. Social security payment 

4. Old age pension 

Select the correct answer from the code given 

below— 

Code- 

(a) 1 and 4 (b) 2 and 4 

(C) 3and4 (d) 1,3and4  

81. 1Ic.I ct iRi1ci 

9Il 'illcil 

(a) lcl i1ii — Ijl*cI ci 

(b) — flf ç-fl.- 

(C) 'Mc1 EflT — II'il lc1I'1 

(d) ijlcp')I Ir1I — &LINI Ic1l'1 

82.  C  1/ 1I1UI jIc1I'1 

15T I'I 

i.'I)'iiii' fl 

2. c11 5[ -JjIc1I1 

3. HI1-IIIict '(1T Ic1l'1 

4. TQ1T 

- 

(b) 21,cl4 

(d) 1,3c14 

83. In which year, Indian Rupee was devalued twice 83. c -iI'c-1 5'T?I c1l IP ) -II 

within a month? 3c1cI f1T N-iI 1T? 

(a) 1990 (b) 1991 (a) 1990 (b) 1991 

(C) 1992 (d) 1993 (C) 1992 (d) 1993 

84. Which of the following curve represents the 84. -l{c1 cicp cp' c') c) iT 

relationship between tax rates and government 

revenue? 

(a) Lorenz curve (b) Philips curve 

(C) Laffer curve (d) Griffith curve 

85. Which of the following (Bank name — Headquarters) 

is not correctly matched? 

(a) Indian Bank—Chennai 

(b) ICICI Bank—Mumbai 

(C) Corporation Bank — Mangalore 

(d) Canara Bank — Bengaluru  

1'PI 'lul*1 €1 T cp1 cIIc1I t? 

(a) 'lj cict) (b) {bfi  

(C) cjçp (d) Th1QT cicP 

85. i1F c  T ( T — lN) 

Rici i) *? 

(a) {i.i  — 

(b) .1T1131T. b — 

(c) cp'IqVI.1 tET: — icfl 

(d) cjj •(t) — 
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86. Which of the following is correctly matched? 

(a) Statistics Day — 29 June 

(b) World Anti-Corruption Day — 01 July 

(C) World Population Day —09 December 

(d) Panchayati Raj Day — 04 August 

87. Recommendations of 15th  Finance Commission are 

for which of the following periods? 

(a) 2019-20to2023-24 

(b) 2020 — 21 to 2024 — 25 

(C) 2021-22t02025-26 

(d) 2022-23to2026-27 

88. Which of the following industry is p a service 

sector industry? 

(a) Insurance (b) Banking 

(C) Petroleum refining (d) Education 

89. Which of the following is not U.P. Government 

Budgetary plan priority during 2022-23? 

(a) Two free LPG cylinders in a year 

(b) Financial assistance under Kanya Sumangala 

Scheme 

(c) Higher study assistance to women 

(d) Financial support to set up Borewells, Ponds 

and Tubewells to small & marginalized farmers 

90. Which of the following is not a component - 

indicator of measuring Global Hunger Index Score? 

(a) Child stunting (b) Under-nourishment 

(C) Child wasting (d) Infant mortality rate 

86. -111c1 T 1ici *? 
(a) i1i) fri — 29i1l 

(b) f Iz1I frT Ic1d — 01 

(C) fr  — 09 [w- 

(d)  i'i — O43PWE 

87. fi 311th'T  RIPIR'1 'I11ci 

ffcblcf[*? 

(a) 2019-202023-24 

(b) 2020-212024-25 

(c) 2021-22l2025-26 

(d) 2022-232026-27 

88. {[ 3'1I '1cB 

i  *? 

(a) qr (b) 1i 

(C) {1i1 tj (d) RIT 

89.  )i- 

2022-231 i  rr21frEIrr ii t? 

(a) i Rik 

(b) cp.-LJ j-lIciI Icl1 11c1I 

(C) -I1II3f m zzI {ITr iiit 

(d) )Ii E 'i-J, p1c It c1lc'lll 1EI 

 {ftI 1cc 

90. c)1 *J1cPIcP 451 1Iq 

ict1ct 

(a) iii cti  3tt {cp1-(b) q  

(c) (d) frj  
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91. Which district of India to have the first 'Amrit 

Sarovar' completed at National level? 

(a) Varanasi, U.P. (b) Amravati, 

Maharashtra 

(C) Amravati, Andhra (d) Rampur, UP. 

Pradesh 

92. Which among the following is author of the book 

'Tomb of Sand' for which he/she was awarded 

International Booker Prize — 2022? 

(a) Nirmal Verma (b) Dhananjay Verma 

(C) Geetanjali Shree (d) Dan Brown 

93. In which of the following countries, Prime Minister 

Narendra Modi gave a call "Bharat Chalo, Bharat se 

Judo"? 

(a) Russia (b) Japan 

(C) Australia (d) U.S.A. 

94. What is the name of the digital platform that 

Supreme Court of India has started to convey its 

interim, stay and bail orders quickly? 

(a) FASTER (b) MAXIMA 

(C) MATLAB (d) PEGASUS 

95. What is the theme of gth  International Day of 

Yoga? 

(a) Yoga for health 

(b) Yoga for harmony & peace 

(c) Yoga for heart 

(d) Yoga for humanity 

96. Where is W.H.O. Global Centre for Traditional 

Medicine going to be established in India? 

(a) Jaipur (b) Delhi 

(C) Haridwar (d) Jamnagar 

97. Jan Samarth Portal is related to which of the 

following? 

(a) PM Jan Arogya Yojana 

(b) SATAT Scheme 

(c) PM Vaya Vandana Yojana 

(d) Credit Linked Govt. Schemes 

(a)  (b) JllLII -I 

(c) 3Ri (d) -jc1c I'r1 Rcti 

fIi.c'I T T 'iIi t, 1ic 
Rfrr i-iii rqr 

3c1R1, Ti 3ft imii 31Tt cbl ccIIc 

f t? 

(a)  (b) I-in 

(c) j)€ (d) IkN1 

95 iT 3ck T f ii  (2 

(a) 1T 

(b) I1JcII cj  niPci * ff' PT 

(C) fp LIILI 

(d) i- ç-jj Zfrrf 

96. 1 kRIRct) 3ftf )1CICp c 

ctz'I irffrii f ii i 

(a) (b) 1V 

(c) (d)  

i cc' 1Rci 1b -ici 

(a) m4) i'.mii 

(b) -ic1c1 

(c) m-ii4 c c]C,.-fl 

(d) cI 1ic cl,l) i)'.iii 
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98. Which of the following (Classical Singer - Gharana) 

is not correctly matched? 

(a) Prabha Atre - Kirana 

(b) Pt. Chhannulal Mishra - Patiala 

(C) Ustad Rashid Khan - Sahaswan 

(d) Birju Maharaj - Kalka-Bindadin 

99. Which of the Indian workers received 'WHO Global 

Health Leaders Award 2022'? 

(a) ASHA Workers (b) POLIO Workers 

(C) NDRF Workers (d) Covid-19 Health 

Workers 

100. Which Indian documentary film has received an 

Oscar nomination in 2022? 

(a) Minding the Gap (b) Forever Young 

(C) The Take (d) Writing with Fire 

101. With reference to the Sexual Harassment of 

Women at work place (Prevention, Prohibition & 

Redressal) Act, 2015, which of the following 

(Particulars - Section) is not correctly matched? 

(a) Determination of compensation - 15 

(b) Inquiry Report - 17 

(c) Cognizance of offence by courts - 27 

(d) Power to remove difficulties - 30  

98. IIc1 t;i—'1I (urT- ll'4cb - 

'iT) fRT 

(a) i
- 

(b) ct c'lId f3U - LI{~1kjI 

(c) -dI I1)4 &r - ' -I -IC1I'I 

(d) fr -lkI'i1 - )IcI—IIc'i'-1 

99. j c Ltl3h ctT QT 

R1 3TEfl 2022' Tt1 3IJ *2 

(a) 3IT1T (b) 

(c) &J4) T5 (d) fg ',-c1k,Z1 

100. f - T -lIcl-I c -iff5{ cp') 2022 -cp "IN-ilcfr-1 

Tt1 3IT *7 
(a) I]TI Lj (b) t't 1.c 'L141 

(C) ~C1) (d) I1~JI fi-  '-tkI" 

101. -I F c'IT'3tt ct I tf cf)  (r4, 
rfrT cc4 P141kUI) &ffzrr, 2015 

if1c1 (t').1 'th ({u 
- 1TT) 

iFici ii *2 
(a) i{uj cpI fTUT - 15 

(b)  fcr - 17 

(c)  NT 3iqiT Ct)I -I1I'1 - 27 

(d) cp{,1l 11IUI  1c) rfr - 30 

102. Consider the following events and arrange them in 

chronological order - 

(I) The Indecent Representation of Women 

(Prohibition) Act 

(II) Rights of Persons with Disabilities Act 

(Ill) The Protection of Children from Sexual 

Offences Act 

(IV) The Medical Termination of Pregnancy Act 

Select the correct answer using the code given 

below- 

(a) I, Il, III & IV (b) IV, I, III, & II 

(C) II, III, I, & IV (d) IV, II, III & I 

102. iIiRsici il3l tr {lt1I cf)Il ll- "3 

cbIcP9II cicl1;:;i 

(I) I1Q1I &ftP LluI (ffr[) 3ffrfrErT 

(II) {CIFlIJl1 &fTElR 3IiflRiPr 

(III) Et c  )1'I c 3{tl   TUT 

(IV)Tr4 ct1 1I1 ifrfrzp 

f1  '3I 

(a) I, II, III El IV (b) IV, I, III II 

(C) II, III, I E  IV (d) IV, Il, III I 
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103. In which of the following year, 'The Protection of 

Women from Domestic Violence Act' was passed? 

(a) 2003 (b) 2005 

(C) 2007 (d) 2009 

104. Section-23 the Domestic Violence Act provides - 

(a) Protection of action taken in good faith 

(b) Compensation orders 

(C) Custody orders 

(d) Power of grant interim and exparte orders 

105. What are the objectives of Pre-Conception and Pre-

Natal Diagnostic Techniques Act, 1994? 

(a) To prevent female foeticide 

(b) To control the declining sex ratio in India 

(c) Both (a) & (b) 

(d) None of the above 

106. How many years of punishment is there for the first 

time offence of provisions prescribed in Section-23 

of Pre-Conception & Pre-Natal Diagnostic 

Techniques Act of 1994? 

(a) Imprisonment of 3 years 

(b) Imprisonment of 5 years 

(C) Imprisonment of 6 months 

(d) Imprisonment of 1 year 

107. In which year, 'The Protection of Children from 

Sexual Offences Act' was passed? 

(a) 2010 (b) 2011 

(c) 2012 (d) 2013 

108. Who is child under 'The Protection of Children from 

Sexual Offence Act'? 
I 

(a) Before the Age. ol 15 years 

(b) Before the Age of 16 years 

(c) Before the Age of 18 years 

(d) Before the Age of 20 years  

103. ' T 11 I TUT 3Tff1Tr 

1Tf1 f5T Rfl? 

(a) 2003 (b) 2005 

(C) 2007 (d) 2009 

104. ffl 3TTT 1RT-23 oqcIT f5 

(a) riir q)  cpIclI 5T RTt1T 

(b) iF?ij 3ITkT 

(C) 3IT 

(d) 31R 31TT  

105. 1994 Lc1_Tr4mr 31 —W1c1 PIIl ç CpC 

'z C  

(a) Lfl m tThT cPlI 

(b) rrr frr IPIIllc1 TT 1iiIci cPII 

(C) (a)U1T (b)c'H'l 

(d) jcçt cp' -i1 

106. u\c1 3 lcl—t 1ii 

3I1ZPL 1994 c FT-23 IIc1 3L6I T 

t '3c'i  i 1"iI 

(c)rmr1T9t? 

(a)3rtcc 

(b)5ccicq 

(C) 6-II c  cc 

(d) 1i4 c  cc 

107. 'ç {q,   .NaTOT i1fzrr' fr * 

L{ ç1 fzii riT? 

(a) 2010 (b) 2011 

(C) 2012 (d) 2013 

108. 'cMIcp 3Tr IIcicP'l T  TUT &ffT' 

3114c1 UEll  ct.1 

(a)  

(b) 16ci  

(C) 18ct)3rrcb9 

(d) 20 cl  q  3ITZ T cp- 



109. For the Medical Termination of Pregnancy (MIP) of 

adult women, whose consent is mandatory? 

(a) Only the woman concerned 

(b) The woman and the father of the unborn 

(c) The woman, her parents and the father of the 

unborn 

(d) The woman and her In-Laws 

110. At which place the pregnancy cannot be terminated 

under the rule of Section-4 of the Medical 

Termination of Pregnancy Act 1971? 

(a) At hospital established by Government 

(b) At hospital maintained by Government 

(c) At the place identified by the committee 

formed at district level 

(d) None of the above 

111. 
Which is not true about the 'Indecent 

Representation of Women (Prohibition) Act'? 

(a) it was passed in 1986. 

(b) It is extended to the whole of India. 

(C) It shall come into force on such date, as the 

Central Government may, by its Gazette 

Notification, appoint. 

(d) All of the above 

112. Under the 'Indecent Representation of Women 

(Prohibition) Act 1986', how much punishment is 

prescribed for second conviction? 

(a) Imprisonment upto 1 years and fine upto 

1000 

(b) Imprisonment upto 2 years and fine upto 

'200O 

(c) Imprisonment upto 3 years and fine upto 

'3O00 

(d) Imprisonment for not less than 6 months to 5 

years and fine not less than ' 10,000 to 

' 1,00,000 

109. c t) frr q 1 Rb c1 cl) .L] Tfqf 

(1.c).t.) fr! Rb I IRI 3TPTPf ? 

(a) ciicii fTi -IfTIJ 

(b) fj 4)1 frm 

(c) j  RmT—fm 3 

(d) fii \c  'HIC'1 cI ç  

110. TF4 4)1 I -jct '-I9IJi 31 IZTJ, 1971 qc) 

—4 . 4)1 

fib1T 'ill  14)c1I 

(a) cj- I TT T1T1ITF 3TThi C[ 

(b) ci fT -Ift'r tf 

(c) fru i t i1?) 1i TT frfT1 

(d) c1'r 4) rf 

111. '19T3?f ct1 31frT41 c,1cui (r) 

3Tfi 1 ' *T   *? 

(a)  1986 rtlTftT 3TrI 

(b) cI tR c'iI*I 

(C)  {fRf c'lI II, 'il ct,N 

31q?1 Iij1L1 31Ili'-ji 3-I'1ftT 

ctl 

(d)  

112 ' -ft-    (flT) 3TflIRIN, 1986' 

3T fr 

c TTT1T ? 

(a) ici cict c6 c4q 3 1000' ç4) JIJ 

(b) 2 cI lci cf  cI4 3 2000 cl4) 's,111I 

(c) 3  dcP C)  3ft 3000' çjc 

(d) cJ 61I 5cI cicb  cf) cc 31k 

ct 4)9 10,000 1,00,000 cicP r,'fI9T 
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113. Who can establish Old Age Home according to the 

Law? 

(a) State Government (b) Central Government 

(C) Both (a) and (b) (d) None of the above 

114. Who among the following is liable for maintenance 

under the 'Maintenance & Welfare óf Parents and 

Senior Citizens Act, 2007'? 

(a) Son (b) Son and Grandson 

(c) Son and Daughter (d) All of the above 

115. When was the Charitable Endowment Act passed?  

113. ff ii" T3TT c TtT9T c cP' 

'1cpc1l 

(a)  (b) c'- 1cpk 

(c) 'H'i (a)E (b) (d) qc41 

14. '-iicii—fiT t - t •ft lHIRcl' u q'u cl 

C)QZ4 3TI, 2007' 3 i1i1ici 

cti UT ilul lf ic4) *? 

(a) Ici (b)  t4 

(c)   C (d) qtci P1 

(a) 1890 (b) 1990 (a) 1890 (b) 1990 

(c) 1880 (d) 1980 (C) 1880 (d) 1980 

116. The accounts of the state fund for persons with 

disabilities shall be audited by the - 

'(a) Comptroller (b) Auditor-General 

(C) Both (a) & (b) (d) None of the above 

117. When did the Dowry Prohibition Act, 1961 came 

into force? 

(a) 1st  April, 1961 (b) 115h  March, 1961 

(c) 1st  July, 1961 (d) 23rd  April, 1961 

118. What is the maximum punishment prescribed for 

demanding dowry under Section-4 of the 'Dowry 

Prohibition Act, 1961'? 

(a) 2 years (b) 3 years 

Imprisonment Imprisonment 

(C) 1 year Imprisonment (d) 7 years 
Imprisonment 

119. How many types of disabilities were included in the 

Act prior to the 'Rights of Persons with Disabilities 

Act, 2016'? 

(a)7 (b)8 

(c) 9 (d) 10  

116. fcLli4l (I~lcpclII) 5i.-i'i fr 'Isl frfr 

!T 5T &ff b"{ l'l fzrr iiii? 

? (a) -cp (b) ls1I 1?iFP 

zf (C) cH'j (a)cl (b) (d)  

'1 

117. c)l &iii, 1961c 

(a) 13Tf, 1961 (b) 11 -ilt1, 1961 

(c) 1 c1l, 1961 (d) 23 3Tf, 1961 

'cij fri 3TI, 1961' cf 1TT-4* 31-cl4cl 

ci iiil R& fci' 1'ill

(a)2c)cc 

(c)iqlq (d)7jc 

119. 'fcil &1fr?TE, 2016' LCj 

fbci-il cPN 'I {~cI4lc1It, iiflc'i 

(a)7 (b)8 

(c) 9 (d) 10 
S 
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(a) (A)-3, (B)-4, (C)-1, (D)-2 

(b) (A)-2, (B)-3, (C)-4, (D)-1 

(c) (A)-4, (B)-1, (C)-3, (D)-2 

(d) (A)-3, (B)-4, (C)-2, (D)-1 
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(2) 35,800 km 

(3) 500 — 2000 km 

(4) 35,785 km 

Code — 

(a) (A)-3, 

(b) (A)-2, 

(c) (A)-4, 

(d) (A)-3, 

(B)-4, 

(B)-3, 

(B)-1, 

(B)-4, 

(C)-1, 

(C)-4, 

(C)-3, 

(C)-2, 

(D)-2 

(D)4 

(D)-2 

(D)-1 
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120. 
In which of the following judgements Hon'ble 

Supreme Court directed the Bar Council of India to 

ensure compliance of the Section-32 of 'Right of 

Persons with Disabilities Act, 2016' in Law colleges? 

(a) Vikas Kumar V/s U.P.S.C. 2021 

(b) Vidhi H. Kataria & others V/s State of Gujarat 

& others 2019 

(C) Disabled rights group & others V/s Union of 

India & others 2018 

(d) Rajive Raturi V/s Union of India & others 2017 

121. Which of the following pairs (International 

Institutions — Place) is not correctly matched? 

(a) UNESCO — Paris 

(b) l.L.O. — Geneva 

(c) Asian Infrastructure Investment Bank — Manila 

(d) International Criminal Court — The Hague 

122. Match list — I with list — Il and choose the correct 

answer using the code given below — 

List —I 

(Orbit) 

(A) Polar Earth Orbit 

(B) Parking Orbit 

(C) Sun Synchronous Orbit 

(D) Geo Synchronous Orbit 

List—Il 

(Distance above the Equator) 
(1)700-800 km 

120. fç f -rjf-r4 l-l4 I-4Ic'i 

ik ctiRçj cl') 'FcIjrj 3rfic 

3ffIlTf, 2016' q  £ThT-32 t1 3TqTf ftftr 

i1iIi {Ifttfti ct cII 3FT fRTr? 

(a) f -p cI FTF1  ç)cj qI 3IT?PT 2021 

(b) ff z1 cPIRI r 3Tt TPT iiIr 

I 3TT 2019 

(c) II Tf 'H-I 

E1 3TJ 2018 

(d) Tf T9F1 T[T -1 3Tf 2017 

121.  
j—  (ii 

(a) — 

(b) 1 - j TI ici-i — ffcJ 

(c) n — 

(d) 4 3qfE TffRJ — 

122. —1 q u—Il 

I cic Ct) I 91Tf Ct) - 

(T) 

(A) 

(Bq1T T 

(C) -i Ictli IT 

— ll 

(—i sii q) 

(1) 700-800 Rb.L 

(2) 35,800  

(3) 500 — 2000  

(4) 35,785 1'1t. 
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(c) 1,2f3 
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123. Who among the following is currently Vice - 

President of International Court of Justice? 

(a) Joan E. Donoghue (b) Kirill Gevorgian 

(C) Dalveer Bhandari (d) Ronny Abraham 

124. India's first indigenously developed Remote 

Sensing Satellite was launched through -  

123. fiRi{ci c  &r1P llci'i 

f9H ? 

(a) 3jI.i . i't (b) ffr 11fti 

(c) r1z (d) •ci4'l 3TlTi 

124. :ITT 5T 1T9T T[ 1ic1ici f 

q  iI4 1lTZlTf rrlr f5zlT I -1 i2  

(a) cq c' (b) ict'l'1'1' 

(c) i. j,ii.ii (d) R&t?J 

125. f-1  c -ll fT IIT 3 - f 
TTlR 

(-i ii) (1T ki). 

(A)R11 (1)IW[-3ft[I9 

(B)*c4f3T (2) - Ic*1 

(C) fsl'iI (3) 

(D) iiFRi (4)RWt-1b{f1N 

 - 

(a) (A)-3, (B)-4, (C)-1, (D)-2 

(b) (A)-3, (B)-1, (C)-4, (D)-2 

(C) (A)-4, (B)-3, (C)-1, (D)-2 

(d) (A)-1, (B)-2, (C)-3, (D)-4 

126. t4 -cI'1-2 1't '11T[' .II9cP I.,cp  ftijci 

3c4.lcl T1 *, 'iRi1ci tii 

(a) ?J: i[fR 1Ic1T ''l1~cp clI.1 

(b) tjj' TI-i1 Ilcil '€i'I~cp clI'1 

(C) iif cilcil Rct ii 

(d) c- c4jcll 1€ifl~c1,  cflI 

(a) Cape Kennedy (b) Baikonur 

(C) French Guiana (d) Sriharikota 

125. Match list - I with list - II and select the correct 

answer from the code given below - 

List-I List-Il 

(Military Exercise) (Countries involved) 

(A) DUSTLIN (1) India - Oman 

(B) Eastern Bridge (2) India - Seychelles 

(C) Khanjar (3) India - Uzbekistan 

(D) LAMITIVE (4) India - Kyrgyzstan 

Code- 

(a) (A)-3, (B)-4, (C)-1, (D)-2 

(b) (A)-3, (B)-1, (C)-4, (D)-2 

(C) (A)-4, (B)-3, (C)-1, (D)-2 

(d) (A)-1, (B)-2, (C)-3, (D)-4 

126. Chandrayaan-2 rover, an electric power generation 

system, named 'Pragyan', is which of the following? 

(a) Six - wheeled robotic vehicle 

(b) Four - wheeled robotic vehicle 

(c) Eight - wheeled robotic vehicle 

(d) Ten - wheeled robotic vehicle 

127. Identify the satellite(s) which was/were 

unsuccessful in launching - 

(1) INRSS-1A 

(2) INRSS- lB 

(3)INRSS-1G 

(4) INRSS - 1H 

The correct answer is - 

(a) 1 (b) 1&2 

(c) 1,2&3 (d) 4 
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128. Which institution released the report entitled, 128. q"1 —ig 9I-iI1 *I-1-i [ *1Ic-J' 

'suffering in silence' to highlight the plight of Niger iiii' c) ,cii ct) i1Iciic) qt± 

during Covid-19 pandemic period? f5i 1lT 5IT c) t? 

(a) World Bank (b) I.M.F. (a) cp (b) 

(c) UNICEF (d) UNHCR (c) (d) 

129. The proper relation between uplink frequency and 129.  -ItlN 3R It 5iT ' -Icfc1 3lt clli'.-j 
3T ic 1cd c ii* low-link frequency in satellite communication is - 

c1I — 
(a) Always greater

(a) * 
(b) Always lower

(b) rr rth r1t * 
(C) Always equal

(C) rr  * 
(d) May be greater or lower (d) i- * 

130. Which is not true with 5G technology of mobile 130. 1'6lIel -NI' ) 5'.sll fluI1)  * 1I 
communication? i 

(1) Data downloading is faster. (1) iei i -tc'i'k ct -ii d) '1cii * 
(2) Driver less cars are possible. (2) tilcicp cti< 91fJ 

(3) Domestic appliances can be controlled with (3) El q,.uj'j q) kicj qi-i t 
mobile phone. fzi-r 1ciI *i 

(4) The existing cell phone can be used.
(4) 4kr ki tt1r T '3-14T t 

The correct answer is -
* — 

(a) i and 3 (b) 1, 2 and 3
(a) 1 . 3 (b) 1, 2 3Th 3 

(C) 2and3 (d)
(C) 23 3 (d) 4 

131. Which is not required in a communication system? 131. iii rri ctii i-q ii t? 
(1) Transmitter

(1) j'-4)c  
(2) Receiver (2)R*1)cN 

(3) Antenna (3) L1ll 

(4) Internet (4)  

The correct answer is - * — 

(a) 1 & 2 (b) 2 & 3 (a) 1 tt 2 (b) 2 cl 3 
(C) 3 (d) 4 (C) 3 (d) 4 
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132. Which is not an advantage of optical 

communication? 

(a) Higher Bandwidth 

(b) Higher Speed. 

(c) No electric noise 

(d) No magnetic noise 

133. Which star is/are nearest to our solar 

system? 

(a) Alpha — Centauri (b) Proxima — Centauri 

(c) Eta — Carinea (d) Affair 

134. Match the following nuclear plants with their 

location and give correct answer from the code 

given below — 

(A) Kalapakkam (i) Gujarat 

(B) Narora (2) Maharashtra 

(C) Tarapur (3) U.P. 

(D) Kakrapara (4) Tamil Nadu 

Code - 

(a) (A)-i, (B)-2, (C)-3, (D)-4 

(b) (A)-2, (B)-3, (C)-1, (D)-4 

(c) (A)-4, (B)-3, (C)-2, (0)-i 

(d) (A)-3, (B)-2, (C)-4, (0)-i 

135. Height of Geostationary Satellite above the earth 

surface in equatorial orbit is approximately - 

(a) 32,000 km (b) 36,000 km 

(C) 38,000 km (d) 24,000 km 

136. 'MODEM' is used for - 

(a) AID  conversion only 

(b) 0/A conversion only 

(c) Both AID & D/A conversions 

(d) None of the above 

137. Which is not a solid state device? 

(a) FET (b) LED 

(c) CRT (d) Tunnel diode 

138. What is not true about hologram? 

(a) It is light source. 

(b) It is a 3-0 picture. 

(C) It requires no screen. 

(d) It is ctained by laser. 

132. 1PI11 HtII T cl4 1T[ ii *? 

(a) 3TIc u;g ziI 

(b) 3Tf I1i 

(c) c4l  11Ad  l 

(d) k -t 

133.  c1I'I TlT 

'1jic 'lcP t? 

(a) &T — (b) {-j 

(c) I — (d) 

134. 11;1P.sRi 'I2i'I c) 3i 1T9'1 

\3d — 

(A)Pc41ctcP9 (i)lId 

(B) -I)'I (2) IIç 

(C)cI'I (3)3.f. 

(D) c,IcP'IqI'I (4) c1I1c'l'1I' 

ctc — 

(a) (A)-i, (B)-2, (C)-3, (D)-4 

(b) (A)-2, (B)-3, (C)-i, (D)-4 

(c) (A)-4, (B)-3, (C)-2, (0)-i 

(d) (A)-3, (B)-2, (C)-4, (D)-i 

135. 

TT tiff   TWT th * — 

(a) 32,000 1b.1t. (b) 36,000 

(c) 38,000 1b.1t (d) 24,000 1b1t 
136. 5[ 31lI '1cii * — 

(a) ffq t/ icc.iici 

(b) titi /1 6I4 ç ICl 

(C) 'H'i T/ 1 IcclIcuI 

(d) q'.)cç cp  . 

137. cti i -iit? 
(a)  (b)  

(c) (d) 1cl 

138. 'kI'1I9 cri '-ici i'i *? 

(a)  Ic  McPII * I 

(b) Rl1*1 

(c)  q  c  ?,1IcI4cpc1I  *1 

(d) IRic1 )c1I *1 
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139. Modern TV screen is made of- 

(a) Liquid Crystal 

(b) Light Emitting Diode 

(C) Thin Film Transistor 

(d) Cathode Ray Tube 

140. As the height of satell ite above earth surface 

increases, the time taken to complete the orbit - 

(a) Remains same (b) Decreases 
(C) Increases (d) May increase or 

decrease 

141. Electric press, heater, electric kettle etc. are made 
of which element? 

(a) Nichrorne (b) Carbon 
(C) Constantine (d) German Silver 

142. The concept of environment is based on which of 

the following? 

1. Environmental Degradation 

2. Dimensions of totality of environment 

3. Shift in the interest 

4. Globality 

Correct answer is - 

(a) Only 1 (b) Only 2 

(C) 2,3and4 (d) land 2 

143. Match list - I with list - Il and select the correct 

answer using the code given below the lists - 

List—I List—li 

(Characteristics) (Particles) 

(A) Zero Mass (1) Positron 

(B) Fractional charge (2) Neutrino 

(C) Fractional spin (3) Quark 

(D) Integral spin (4) Photon 

Code- 

(a) A-2, B-3, C-i, D-4 (b) A-3, B-2, C-4, D-1 
(C) A-2, B-3, C-4, D-1 (d) A-3, B-2, C-i, D-4 

144. Which of the following viruses was assessed to be 

responsible for highly infectious disease of small 

pox? 

(a) Adenovirus (b) Variola virus 

(C) Aichi virus (d) Coxsackie virus  

139. T - 

(a) cI<ç  fb*r t'1 

(b) cp 3c'-Js1.l c1I RI qS) 

(C) gcic) c1 iicl çi1i  qcl 

(d) 4 fu 

ir it qi ciIl cflc'II PTT - 

(a)  5c1I (b) c.cn 

(c)  (d)  *lcpcll ZIT -4c- 

141. R1ci t _(i), 1j q) cec.) &r1 
fcict (c)'rth? 
(a) (b) cpi4. 

(c) p -j (d) 

142. ciIc1IciuI c) if1{Qcici 

1. Ic1Ic1U4 1 ,-[ 

2. clIcflcUI cç.j 3Th.ii1-ui tf 

3. 5fJ 6!c('ilcI 

4.~)IcPc1I 

- 

(a)  (b) cf1cl 2 

(c) 2,33t4 (d) 132 

143. u—Il 1i C1 Q1T 

1—ll 

(c1l) (5°T) 

(A) T sc 4-IIl (1) 1Iiii 

(B) I'1Ic9cP 1I's1 (2) 1'1'  

(C) F'1Ic9q tF[ (3) f1T 

(D) 1c'f ftFE (4) q'1cI-i 

cic - 

(a) A-2, B-3, C-i, D-4 (b) A-3, B-2, C-4, D-1 

(C) A-2, B-3, C-4, D-1 (d) A-3, B-2, C-i, D-4 

144. 1111S1ci cf).1 - T 1i 3TIf 
PI9cP tt4cp fi-  1Ici d91I 'ilicil 

(a) tfr 1TU (Ii' (b) 1rrr Rliu 
'N *i) 

(C) 31T fju (d) t1q;) 1 ii u 
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145. What is the name of the Aerospace company 145. s'iqRi ii'1*I 'c1II1c'1 IT1 1'HI 

owned b,biIIionaireieffBeZoS?
PI1 i5T CNI 9TE 

(a) 3{1i-I (b) 
(a) Blue Origin (b) Space-X ________ (c) (d)  
(C) Amazonia (d) Dragon 

146. Which international organization has launched 146. ci'1I '-lc'1 "'i1—i CN-u1 

"Covid-19 Vaccine Market Dash Board"? 

(a) World Bank (b) l.M.F. 

(C) U.N.I.C.E.F. (d) F.A.O.  

(a) fli )cp (b) 1k l 

(c) fl\) (d) .r. 

147. "AIlPOIP Grant Programme" has been launched by 147. 3-1I i'I 1Ici fT ?i ITT 

Australia in partnership with which of the following -iii') "..&t.3it311tt 1,4l'1 

countries? Cp4-" tzii ll 

(a) India (b) Jamaica
(a) (b) jct)l 

(C) Bolivia (d) Nicaragua (c) Ik)Pii (d) 1cPkI'3IT 

148. "Brucellosis" is a disease caused by - 148. -ii-i 1-ii ii cti'ct — 

(a) Virus (b) Bacteria
(a) [tfluJ,

(b) \S)ClIU 

(C) Protozoa (ci) Fungus (c) 'lIi't3u (d)  

149. Indian robot namely 'Vyommitra' was developed 

by - 

(a) C-DAC, Pune (b) I.S.R.O. 

(c) T.I.F.R. (d) D.R.D.O. 

150. Which Indian Institution has developed 'Intensive 

Care Unit' (lCU) grade ventilator under the name of 

'Project Praana'? 

(a) AIIMS, Delhi (b) lIT, Kharagptir 

(C) AIIMS, Patna (d) uSC, Bengaluru 

149. 'c{I' .INICP lik R*ic  1IcpR-ici 

fi Trzn? 

(a) —cp,  13"t (b) I'r (ii..3TR. 

3.) 

(C) t3I14'3IT. (d)  

150.  uli'iu' 3114c1 f51 I'cl T1TE l'I 

{ii zf' (. . 

11cpRici T1TZIT*? 

(a) t  f) (b) 3U3IT.& 'siI 

(C)  qc.- (d) 
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1.
r fi -t 

Tf W1fT k* JT 3TT *? (a) tjç -j- 

(b) fi rr r fkr 
(C) 

(0) TTfR1 
2.

II 51, 

(a) j
* (b)  

(c) r rrt * (d)  

3. 

Tur
Th 1TJ 35 

nrr rrf? (1) iyf 

rT*T 

tTT*I 

(2) 3fvj 31Tf * 

(3) irt -3TiVtJT q5T ffrr 

(4) q5T * 3l( F45 ffi1f'FT f lT4
*1 

(a) 1, 2, 3 ?FIT 4
(b) *TT 2, 3, 4 

(C) I11,2,3 (d) 1,3,4 

—1 u—Il
TT 

(A) TTtf9T l5T fiñi 
(B) P17 T fj1 
(C) tErq T ftr 
(D) rr (f ) 
u—Il 

(1) 1T 17 1r UT Tfj 
(2) T 52 qft u 
(3) TT 61 rftr 
(4) 1TT 92 TftI roi fzp 

(a) A-4, B-3, C-i, D-2 

(c) A-i, B-2, C-3, D-4 
(b) A-4, B-3, C-2, D-i 

(d) A-3, B-2, C-i, D-4 

1. Which one of the following principles is laid down 
in the case of Rajesh Kant Roy vs. Shanti Debi? 
(a) Principles of Part Performance 

(b) Principles of us Pendens 

- (c) Principles of Vested interest 
(d) 

Principles of Contingent interest 

2. Within the meaning of Section 51 of TP Act, the 
transferee - 

(a) is not entitled to the value of improvements 
(b) is entitled to the value of improvements 
(c) has conditional entitlement to the value of 

improvements 

(d) None of the above 

3. When transfer of Property by the owner is 

dissented under Section 35 of Transfer of Property, 

under which circumstances compensation should 

be given to disappointed transferee? 

(1) Where the transfer is gratuitous and the 

transferor has, before the election, died or 

otherwise become incapable of making a fresh 
transfer. 

(2) Where the transfer is gratuitous and the 

transferor is, before the election, alive. 
(3) When the transfer is for consideration and the 

transferor has, before the election died. 
(4) When the transfer is for consideration and the 

transferor is, before the election, alive. 

Select the correct answer - 

(a) 1, 2, 3 and 4
(b) Only 2, 3, 4 

(c) Only 1, 2,3 (d) Onlvi A 

Match list-I with list-Il and select the correct answer 
using the code given below — 

List—I 
(A) Doctrine of Subrogation 
(B) Doctrine of Consideration 
(C) Doctrine of Accumulation 
(D) Doctrine of Lis pendens 

List —H 
(1) Section 17 TPA 

(2) Section 52 TPA 

(3) Section 61 TPA 

(4) Section 92 TPA 

Code - 

(a) A-4, B-3, C-i, D-2 

(c) A-i, B-2, C-3, D-4 

[ 16-AJ134102 
Page 2 of 40 

Iii /I!iIII/IIIiI/I/IIIIIIIIiIIIIIiIIiIIiiiii/i 

(b) A-4, B-3, C-2, D-1 

(d) A-3, 8-2, C-i, D-4 



5. Legal terminology 'Res Nullius' is used for - 

(a) property of certain person 

(b) ownerless property 

(C) property of corporation 

(d) None of the above 

6. Which one of the following is not the essential 

element of sale? 

(a) Seller and buyer 

(b) Without consideration 

(C) Transfer of ownership 

(d) None of the above 

7. Match list-I with list-Il and select the correct answer 

using the code given below the lists — 

List—I List—Il 

(A) Sale (1) Section 21 

(B) Marshalling (2) Section 122 

(C) Gift (3) Section 54 

(D) Contingent interest (4) Section 81 
Code - 

(a) A-i, B-2, C-3, D-4 (b) A-4, B-3, C-2, D-i 

(c) A-i, B-4, C-3, D-2 (d) A-3, B-4, C-2, D-i 

8. Under which of the following conditions, Section 12 

of the Transfer of Property Act, 1882 is not 

applicable? 

(a) Where the transfer is by the way of Lease. 

(b) Where the transfer is by the way of exchange. 

(c) Where the transfer is by the way of gift. 

(d) Where the transfer is by the way of sale. 

9. Which of the following instruments have been 

excluded by the application of Section 137 of the 

Transfer of Property Act, 1882? 

Select the correct answer using the code given 

below- 

(i) Stocks 

(2) Shares 

(3) Debentures 

Code - 

(a) All 1, 2, and 3 (b) Only 1 and 2 

(c) Only 2 and 3 (d) Only i and 3 
10. Which one of the following Section of Transfer of 

Property Act relates to 'oral transfer'? 

(a) Section 5 (b) Section 7 

(c) Section 8 (d) Section 9  

frI I€cncc) i 'i1ii' qi ) uth *— 

(a) 1if  cifj cj) ii1 

(b) 4 j fr 
(c)fpq 

(d)  

P1i cjj IIs T3T 1.cl 31Icicb cicti 

i  t? 

(a) fji Lc4 cjj 

(b) f !,l19)Q1 

(c) it1 3I[fcj ii 

(d) qç 

—lcP—ll Rici cP T21T 

wrii 

__
—II 

(A)I1cN-1 (1)EIRT 21 

(B) cP9 (2) TRT 122 

(C) cI1 (3) 1TT 54 

(D)Tr9Tfrrfr (4)TRTs1 

(a) A-i, B-2, C-3, D-4 (b) A-4, B-3, C-2, D-i 

(C) A-i, B-4, C-3, D-2 (d) A-3, B-4, C-2, D-i 
8. 31rckIJI 3lTq, 1882 q)  TT 12, 

i1Rici 4' cI i) 

(a) TT 3IT * I 

(b) I\I &r * I 
(C)  ii Ri &r * 
(d)  3jul fi ri 3IT * I 

9. 4UJ 31.c1UI r1frTf, 1882 cf TRT 137 

c'lI i1Rici fi — 

cl) 1T T I'-II 

f 111  fk — 

(1) *c'Ici 

(2)  

(3) .71t U1 1.tl 

(a)i,23' (b)ia2) 
(C)  2313q) 

10. j . u &ffk q -' ur 'fit 
nim *? 

(a) Tf[ 5 (b) 7 

(C) 8TT 8 (d) ur 9 

5.  

6.  

7.  

[16-Aj-134102 Page 3 of40 

 

I 01110110 

  

 

liii Oil IIIIIIIIIIIlI0 

  



11. Match list-I with list-Il and select the correct answer 

using the code given below the lists - 

List-I List-Il 

(A) Holding over (1) Mortgage 

(B) Universal donee (2) Gift 

(C) Redemption (3) Lease 

(0) Purchases (4) Sale 

Code - 

(a) A-3, B-2, C-i, D-4 (b) A-2, B-3, C-4, D-i 

(c) A-4, B-i, C-2, D-3 (d) A-i, B-4, C-3, D-2 

12. Match list-I with list-Il and select the' correct answer 

using the code given below the lists - 

List-I 

(A) Part performance 

(B) Conditional Transfer 

(C) Appointment of receiver 

(0) Implied contracts by mortgagor 

List4l 

(1) Section 65 TPA 

(2) Section 53A TPA 

(3) Section 69ATPA 

(4) Section 25 TPA 

Code- 

(a) A-2, B-3, C-4, 0-i (b) A-3, B-4, C-2, 0-1 

(C) A-2, B-i, C-3, D-4 (d) A-2, B-4, C-3, D-1 

13. Which of the following pair is not correctly 

matched? 

(a) What may be transferred - Section 6 of TPA 

(b) Oral transfer - Section 9 of TPA 

(C) Vested interest - Section 21 of TPA 

(d) Joint transfer for consideration - Section 45 of 

TPA 

11. -Iq;1 11-lI 1IId q{ 1T 

 {  Ti c 1IIc1l 

(A)3If1TT (i)FTi5 

(B)'14* 31141c11 (2)F1 

(3)qcl 

(D) cc1I (4) RcPI 

 - 

(a) A-3, B-2, C-i, D-4 (b) A-2, B-3, C-4, D-1 

(C) A-4, B-i, C-2, D-3 (d) A-i, B-4, C-3, D-2 

12. _Ii 

(A) '-iiI'icp -flc'1'1 

(B)  

(C) R c  Pi-,j1i 

(D) 1TZ15 cpci'i ti f11TfTT 1{4I'l 

-ll 

(1) 1TT 65 Il-YR1 3T1T 3IiTffZN 

(2) 'cThT 53A *1 R 3tiuT ftzi 

(3) £1TT .69A iRi 3T°T. 3T1TftZN 

(4) 1TT 25 * RT 3T1RTT 

 - 

(a) A-2, B-3, C-4, D-1 (b) A-3, B-4, C-2, D-i 

(c) A-2, B-i, C-3, D-4 (d) A-2, 8-4, C-3, 0-1 

13.  

(a) j Içi fZff 51T '1II - 1TT 6 

31.c1UI 3TtfR1TE 

(b) f q  3cUI - tT[T 9 j-4{ 3frç u 

(C) IIc1 TT2  - 1TT 21 i 1: 31-c1.ul 

(d) 1qi'4 1ct1 3f'c1l - 1TT 45 i1 

1c1'°l &Itftzr1 E 
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14. Match list-I with list-Il and select the correct answer 

using the code given below the lists — 

List—I 

(A) Fraudulent transfer 

(B) Election when necessary 

(C) Rule against perpetuity 

(ID.) Conditional transfer 

List—Il 

(1) Section 14 TPA 

(2) Section 35 TPA 

(3) Section 25 TPA 

(4) Section 53 TPA 

Code - 

(a) A-2, B-4, C-i, D-3 (b) A-4, B-2, C-i, D-3 

(c) A-4, B-2, C-3, D-1 (d) A-i, B-2, C-3, D-4 

15. Assertion (A): Transfer in perpetuity is allowed' for 

the benefit of public. 

Reason (R): Welfare of public at large is above the 

welfare of individual. 

(a) A & R both are true and R is the correct 

explanation of A 

(b) A & R both are true but R is not the correct 

explanation of A 

(C) A is true but R is false 

(d) R is true but A is false 

16. Which one of the following Section of the Indian 

Evidence Act, 1872 is related with the 'Presumption 

as to electronic agreements'? 

(a) Section 8iA (b) Section 85C 

(c) Section 88A (d) Section 85A 

17. Under the Indian Evidence Act, 1872 how many 

witness are required for the proof of any fact? 

(a) At least one (b) At least two 

(c) At least five (d) Not specified  

14. —1 ci;) u—Il lI1c1 ctc)1 TE1T 

4 f 'N  e   c — 

(A) cp1IcuuI 31.-c1UI 

(B) IciItN CI)l 31Icilcp * 

(C) fllc1c1I IN 

(D) ;31.-c1UE 

—lI 

(i) 1TT 14 3U1 

(2) 1TT 35 1Rf frcur &f1fr 

(3) T 25 rr uj & 

(4) lTT 53 lTcrftr 3r'u'r 3Tfrzp 

(a) A-2, B-4, C-i, D-3 (b) A-4, B-2, C-i, D-3 

(C) A-4, B-2, C-3, D-1 (d) A-i, B-2, C-3, D-4 

15. 3T 152T1 (A): I'1q' * fp IIc4Icp 

3FVI fc) 411 *1' 

cpU (R):  'iITIT W 'ilicil T5T cPeiUi 

(a) A 3t1'( R c *IcL1 * R,A q) cqj 

* 

(b) A 31 R ui Tt * 1bi R,A t 

cIJq ii * 

(C) A Hc'Ll t 1TF R 3RTI * 

(d) R 'HcLl * A 3fRT * 

16. -lkc1k T1 3Tf1TE, 1872 j) 1Pici 

cii ) n'r ' 

'#-r *? 

(a) 1TT 81A (b) ITT 85C 

(c) 88A (d) -ITT 85A 

17. TRT arTfrzN, 1872 cic1 rzr 

* w1IuI q) *iiIlci ci' * fii   q') 

rt *? 

(a) cpj   cp (b) c)i- cj 

(C) p q,i- iz (d) 1u1 i 
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18. Match list-I with list-Il and select the correct answer 

using the code given below the lists - 

List-i 

(A) Electronic Records 

(B) Opinion as to digital signature 

(C) Proof as to digital signature 

(D) Presumption as to digital messages 

List-li 

(1) Section 47A Indian Evidence Act 

(2) Section 88A Indian Evidence Act 

(3) Section 22A Indian Evidence Act 

(4) Section 67A Indian Evidence Act 

Code - 

(a) A-4, B-3, C-2, D-i (b) A-3, B-i, C-2, D-4 

(C) A-3, B-i, C-4, D-2 (d) A-4, B-i, C-2, D-3 

19. Match list-I with list-li and select the correct answer 

using the code given below the lists - 

List-i 

(A) Section 45 of the Indian Evidence Act 

(B) Section 85 of the Indian Evidence Act 

(C) Section 45A of the Indian Evidence Act 

(D) Section 23 of the Indian Evidence Act 

List-li 

(i) Opinion of Examiner on Electronic Evidence 

(2) Admission in Civil cases when relevant 

(3) Presumption as to Power of Attorney 

(4) Expert opinion 

Code - 

(a) A-4, B-3, C-i, D-2 (b) A-i, B-3, C-4, D-2 

(C) A-4, B-3, C-2, D-1 (d) A-i, B-2, C-3, D-4 

20. Which of the following is not correctly matched? 

(a) Matrimonial communication - Section i22 

Indian Evidence Act 

(b) Confidential communication with Legal 

Advisors - Section i27 Indian Evidence Act 

(c) Official communication - Section i24 Indian 

Evidence Act 

(d) Professional communication - Section 126 

Indian Evidence Act 

18. -1 -ll *I1d f1T 

I CI 5T 

(A) Ct5P14 41lhil 

(B) 1r'1 iiai tR ILI 

(C) {c'I TTZ I5T TT 

(D) 1s1kci "HI ll 3T1T1T 

tT-ii 
___ 

(1) TR[ 47A 1I'cI RWT 3TffkN 

(2) TRT 88A I'c lWI tfIRTE 

(3) 8TT 22A "ii ci) 9TT IIRTT 

(4) .TRT 67A 1I cil L  IWT TfRPT 

(a) A-4, B-3, C-2, D-1 (b) A-3, B-i, C-2, D-4 

(C) A-3, B-i, C-4, D-2 (d) A-4, B-i, C-2, D-3 

19. -1 q u-il [lc1 CI1RI TT 

 p- 

(A) 1TT 45 1Idl TJ fkIITI 

(B) TPT 85 -1l 'cil -i lT &l1ZN 

(C) TRT 45A 1 kcik Tft4 3TIfRPT 

(0) 1TT 23 1I < ci i IW 3TffkN 

(1) cICt5PIcP ITT 

(2) Ri{Iei 1I1cl') CPCI *iIc1 tth 

(3) 1k'lI1I CII 3fT11T 

(4) 11tiu1 .0c1 ILI 

- 

(a) A-4, B-3, C-i, D-2 (b) A-i, B-3, C-4, D-2 

(c) A-4, B-3, C-2, D-1 (d) A-i, B-2, C-3, D-4 

20.  11IcI 'ii 

(a) IlCIjIc1 1z1.jlI. - £ThT i22 ii 

(b) ffi '1e1IcPk) 

1*t1'1I - -TRT 127 1I -I IWE tfTZF1 

(C) II1'k1 1"i1ll' - TNT 124 1kcik1 ITT 

(d) Iicp ftit1.II - .1TT 126 1I'd1 iwi 
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21. "A Barrister is instructed by an Attorney or Vakil 

that an important witness is a dacoit. This is a 

reasonable ground for asking the witness whether 

he is a dacoit." 

This illustration is based on which Section of the 
Indian Evidence Act? 

(a) Section 149 (b) Section 153 

(C) Section 147 (d) Section 145. 
22. "The statement in order to constitute a 

'Confession' under the Indian Evidence Act, must 

substantially all the facts which constitute the 
either admit in terms the offence or at any rate 

offence." 

The above view was expressed by the Privy Council 

in which one of the following case? 

(a) Q.E. vs. Abdullah 

(b) H.H.B. Gill vs. King Emperor 

(c) Pakla Narayan Swamy vs. Emperor 

(d) John Makin vs. Attorney General 

23. Which of the following is not correctly matched? 
(a) Presumption as to documents thirty years old 

Section 90 Indian Evidence Act 

(b) Order of Examinations — Section 138 India n 
Evidence Act 

(c) Presumption as to dowry death — Section 113 A 
Indian Evidence Act 

(d) Official Communications — Section 124 India n 

Evidence Act 

24. If a witness, who is unable to speak, gives hi S 
evidence in writing in the open court, evidence s 0 
given shall be deemed to be - 
(a) documentary (b) primary evidence 

evidence 

(C) oral evidence (d) secondary evidence 

25. Read the following statements carefully - 
A. The presumption of legitimacy of child i 5 

governed by Section 112 of the Indian Evidenc e 
Act. 

B. Narendra Nath Pahari vs. Ram Govind Pahari is a 

leading case on the legitimacy of a child born 

during the continuance of valid marriage. 

From the above - 

(a) A is true but B is false 

(b) A is false but B is true 

(C) Both A and B are true 

(d) BothAandBarefalse  

21. "f q  f 3TMf T 

*1 '

f l'li * ' cP 9f9uf :ITft cc1 

.c1ci * I1tc1 31TTl * I" 

1F4 flTT 3Tl1fIT[ q) f 
iri 311fr *? 
(a) 149 (b) 1TT153 

(C) 1TT 147 (d) 145 
22.

3f1fr * 3 
Tf1[ c4) fr  3IIIcp * 11? 3TfaN 

Tlt 3T1T *5R cb 1T 3TqT 
TrIf c  cfl *ll'ccll1 lZft 

11ur fr ctijThci 
111c1 ciic rzi f n? 

(a) ct. 1fi 

(b) 61.119 fT1  
(c) (cçj .1NI.4Ol l]4 61.111-I 
(d) 'i'k fi F[PT 3Tff 'ii ei 

23.  IRT  

1TT 90 1T 4 1TT 31fkITE 
(b)  1T3If l5T cP9 — ThT 138 ir 

3TIf 

(C) qjl * 61I 3'iIT1T — TRT 113A 
1l1 IIJ 3Tf1kN 

(d) u*iq — 1TT 124 -Ikdi4 HRT 
3T 

24.  1JcJ  'il kPk 3TP *, 1iPci 
3T FTt _3fTT c1I t, * 

f i1 lTR1 1 91-Il '-'llIl — 
(a) *1lh.1) (b) nq 
(c)q) (d)qjj 

25.  

A. f th 
ITR1 3Tf1f1R1TE ci) -TRT 112 31lT1fTT 

B.  11R19NI ff c')  ki  fr 
-I -c 9T2 g I 19P 

i fT clIc *1 
iilctci — 

(a) A Hg1 * cIRb-f B leici * 

(b) A Ie1cI * ff5T B Tt * 

(C) A T1TB cH'1 Tt * 
(d)AB c 'r jç  

[16-A]-134102 Page 7 of 40 

                  

                  

 

Ill If 

  

III 

 

III 

           

       

111111 

 

1111111 11111 

 

I'll 

   

          

I IU 

             

               

                 



26. Presumption as to electronic record of five year old 

is 

26. 

(a) Presumption of Fact 

(b) Presumption of Law 

(C) Presumption of Fact and Law 

(d) Conclusive proof 

27. Match list-I with list-Il and give correct answer by 

using the code given below the lists - 

List-I 

(A) Primary evidence 

(B) Public document 

(C) Private document < 

(D) Secondary evidence 

List-Il 

(1) Section 74 Indian Evidence Act 

(2) Section 75 Indian Evidence Act 

(3) Section 62 Indian Evidence Act 

(4) Section 63 Indian Evidence Act 

Code - 

(a) A-i, B-2, C-3, D-4 (b) A-2, B-3, C-4, D-i 

(c) A-4, B-2, C-3, D-i (d) A-3, B-i, C-2, D-4 

28. Which one of the following Provision of the Indian C)28. 

Evidence Act is not matched? 

(a) Section 4 - May Presume, Shall Presume, 

Conclusive Proof J 

(b) Section 5 - Evidence may be given of facts in 

issues and relevant facts 

(C) Section 17 - Relevant Fact 

(d) Section 45 - Opinion of experts 

29. Match list-I with list-Il and select the correct answer 

from the code given below the lists - 

List-I 

(A) Hostile witness 

(B) Dying Declaration 

(C) Refreshing Memory 

(D) Leading Questions 

List-Il 

(1) Section 159 Indian Evidence Act 

(2) Section 32(1) Indian Evidence Act 

(3) Section 154 Indian Evidence Act 

(4) Section 141 Indian Evidence Act 

Code - 

(a) A-3, B-2, C-i, D-4 (b) A-i, B-2, C-3, D-4 

(c) A-4, B-2, C-i, D-3 (d) A-2,B-3, C-i, D-4 

(D)1ccP 1FRT 

(1)  ThT 3TffIP 1TT 74 iTh 
(2)  ThT 75 -1I 3TfTfkN 

(3)  TT 62 -IRT WI 3ITT 

(4)  1TT 63Th1 1TT 3fkTE 

cl- 
(a) A-i, B-2, C-3, D-4 (b) A-2, B-3, C-4, D-i 

(C) A-4, B-2, C-3, D-i (d) A-3, B-i, C-2, D-4 

91RT 'i1 

(a) 4_3tNOU '1clI, ET1TI3U cpll, 

{z1icp 

(b) iiT s -fi r€4t i 
ti ii ctII 

(c) 1TT i7-PIc1 EZI 

(d) £TffT 45- c 

-1 cp'1 -ll 1ici 411JIL fT 

[\3c1' 

TTf 

(A)tIT lT 

(B) lc1 UIl 

(C)ff IMI rPlI 

(D)1 i1 

-lI ___ 

(1) .TNT 159 1RtT 1WT 

(2) 1TT 32(i)1RT ]1T 

(3) TT 154 I I i fflIT &fIIR1'1 

(4) TRT 141 '11 'cIl 1 1WE Tf1kPT 
 - 

(a) A-3, B-2, C-i, D-4 (b) A-i B-2 C-3, D-4 

(c) A-4, B-2, C-i, D-3 (d) A-2 B-3 C-i, D-4 

27. 
C) 

      

IIIIII'Il'IOI 

 

II 
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30.  

31.  

C) 

30. 'Identification proceedings' are provided under 

which Section of the Indian Evidence Act? 
(a) Section —7 (b) Section —8 
(c) Section — 9 (d) Section — ii 

31. Match list—I with list—Il and select the correct 

answer using the code given below the lists — 

List—I 

(A) Interpretation Clause 

(B) When facts not otherwise relevant become 

relevant 

(C) Burden of Proof 

(D) Relevancy of facts forming part of same 

transaction 

List—Il 

(1) Section 6 Indian Evidence Act 
(2) Section 105 Indian Evidence Act 
(3) Section ii Indian Evidence Act 
(4) Section 3 Indian Evidence Act 
Code - 

(a) A-i, B-2, C-3, D-4 (b) A-2, B-3, C-4, D-1 
(c) A-4, B-3, C-2, D-1 (d) A-2, B-i, C-3, D-4 

32. In which of the following Sections of the Indian 

Evidence Act, the fact showing the knowledge is 

declared relevant? 

(a) Section — 8 (b) Section — 9 

(c) Section — 13 (d) Section — 14 

33. Consider the following events and arrange them 

into chronological order - 

I. Cross examination 

II. Examination ifl chief 

III. Re-examination 

Select the correct answer using the code given C\J 

below- 

Code - 

(a) I, II and III (b) II, I and Ill 

(C) III, II and I (d) II, III and I  

'NlNgl cpI4clI' IT 1TR! 3TflfZN cfc 
f 9 3TT*? 

(a) TT— 7 (b) Eff— 8 
(c) — g (d) mrr — ii 

—1 c —ll T1 TT PIf 
fi cpf_ 

(A) flir 

(B) 31TTr lcl , cbi 

(C) TT 5T qj 

(D) tq cl—1 T frr f9 cj  T2Zft  qç 
1*11 fl cj  cii 

r—II ___ 

(J.) 6 IT 1 TI 

(2) .ITT i05TT?tRT 9TRT 3fk?1TE 

(3) TRT 11 iiai 
(4) -T[T 3 -i I T Ti 3TfflR1Tr 

(a) A-i, B-2, C-3, D-4 (b) A-2, B-3, C-4, D-1 
(C) A-4, B-3, C-2, D-i (d) A-2, B-i, C-3, D-4 

I thT TT 3T1ftN q  

1I1 ff?f c  clI1 ?F2Z1 cf)'1 '1Id f5T 

k1I 

(a) 1RT —8 (b) E[RT —9 

(c) RTi3 (d) TTTi4 

33. [{ [9T31f R fT 31ct 
q)lel P9II' IT1TJ cff — 

I. w1i ijr 

II. T 

III. : LJJf 

c — 

(a) I, II •TTT Ill (b) II I Ill 

(c) III II ?llI I (d) II, III iTlT I 

32 

CD 

34. The evidence may be given of following facts — 

(1) Facts in issue 

(2) Relevant fact 

Select the correct answer using the code given 

below— 

Code- 

(a) Only 1 (b) Only 2 

(C) Both 1 and 2 (d) Neither 1 nor 2  

34. Pui-.i 1;i R:sici T?-zt T Rr fi T IF — 

(1) fn [Zf 

N (2) 'TF 1PzT 

(a)  i (b) c$c1c1 2 

(c) i32i-l'l (d) i II 2 
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35. Assertion (A): Admission is only prima fade proof. 

Reason (R): Admission is not a conclusive proof but 

it may operate as an estopple. 

(a) A and R both are true and R is the correct 

explanation of A 

(b) A and R both are true but R is not the correct 

explanation of A 

(c) A is true but R is false 

(d) R is true but A is false 

36. The Cardinal Principle of Criminal Law 'Nullum 

Crimen Nulia Poena Sine Lege' means - 

(a) no crime of punishment can exist without pre-

existing Criminal Law 

(b) a man is presumed to be innocent until proven 

guilty 

(C) ignorance of law is not excused 

(d) ignorance of fact is excused 

37. Match list—I with list—li and select the correct 

answer using the code given below the lists — 

List—I 

(A) Section 146 IPC 

(B) Section 340 IPC 

(C) Section 192 IPC 

(D) Section 383 IPC 

List—Il 

(1) Fabricating False Evidence 

(2) Extortion 

(3) Rioting 

(4) wrongful confinement 

Code - 

(a) A-i, B-4, C-3, D-2 (b) A-3, B-4, C-i, D-2 

(C) A-3, B-2, c-i, D-4 (d) A-2, B-4, C-3, 0-i 

38. 'A' commits theft on the property in the possession 

of 'B' and while committing theft 'A' has a loaded 

pistol under his garments, kept for the purpose of 

hurting 'B' in case if 'B' resist. 

The offence committed by 'A' is defined under 

which Section of the Indian Penal Code, 1860? 

(a) Section 382 (b) Section 381 

(c) Section 379 (d) Section 390  

35. 3TThT9 (A): 111I ccl 'b I rr 

*1 

ct)luI (R): {tll.4cP .1' * fI5 

(a)  

* 

(b) A 31 R '1i'1 *1c'-1 * tf5;:f R, A i) it 

cThL9L1l i) * 

(C) A'Hc-1 * 1F R3TWT * 

(d) R'Hc"-I *RA3TT* 

36. qf ff '.p- f 

91W1 
(a) f9T  Tf1 3ITTf fff 

T4 3TqrT zff iF i  t dPdl 

(b) jw ciP c'l II ii 1 'lIc1I c1i cicp 

fkcii* 
(c) T?T1* 

1—i 1—ii R'tci {JI T 

(A) £1TT 146 ]iEl 

(B) TET 340 fffclI 

(C) TRT 192 i1?tT flflI 

(D) ThT 3831'cI) çU 

'
t —Il 

(1) fI2F H1I iR cP"'l I 

(2) 'II'1 

(3) IT ct -Il 

(4) fff'f tfIT 

(a) A-i, B-4, C-3, D-2 (b) A-3, B-4, C-i, 0-2 

(c) A-3, B-2, C-i, D-4 (d) A-2, B-4, C-3, 0-i 

38. '' cc' 1T t[ '3T' thi cii * 
 3Tq 

 1*dSlei 'sclI *, ii ci '' in 

rfrT l 'rti-'i tR '' l rfr qii 'ic 

'31' i' i fn i Li I Wt 'a-i fci I 

1860, f') f .iir rIrl fr n -ii 

(a) TNT382 (b) TRT38i 

(C) ]T 379 (d) E1TT 390 

          

"IlII'IIIII 

 

"It'll' 
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39.  
.i 

(a) jy.- - 1TT 383 -1T -u: *i1i 
(b) - 1kI 391 TRRT EI11T 
(C) c'c - .1TT 389'1kcT 4U  i1ii 
(d) 'l

- 1TT 378 1IJ 

40. I1i IRl1i fi 
lcp'l l'HFcb -1TT3It * ct)-lIik 2TEIftTT 

I. Iilc'l5 

II. —3Tf1lR 

Ill. TT 1T9Tff  H1l 
IV. ci1q '3c-lIc1 (cl'cp .--) 4)  [  
(a) Ill, I, l\J, II (b) Ill, l\f, I, II 
(c) I, Ill, Il, IV (d) l\f, II, I, Ill 

41. 'i1J174  [ffl q 1TT 124—A lctc1 
- 

(a) cjc  3NfT[ 

(b) 3N1TTT IT9T 
(c) cjc t TFE9T 
(d) Ull Zff 3ICi9t11I 

42. 

c '' Cb IT 'cII *1 

f f5ZIT ff *1 cpcl I * I 
cplUl (R): IT 1 cl1 3IT lfQ1ct 

\:3•1 - 

(a) (A)3 (R) c)1 * T1IT (R),(A) l5T 
tcpU  * 

(b)  

4tccp.0    * 
(c) (A)l * tR (R) k'lcl * 
(d) (A)'lcici *(R)l* 

43. 'c- 'iledlq, il'i 31le1c1 IT 3ii' 

cf~f c  t5t 'ciI * c  3lTTh 

lc1 

(a) 77 R11  ffi-r 
(b) ThT 73 :lTcfrzi ug 

(C) i-r;i 78-Ikc qu  *Ictl 
(d) 761kcJ { -l- 

III 110111 HI III liii UIIIIIIIIIIIIIIIIII III 

39. Which of the following pair is not matched? 

(a) Extortion-Section 383 IPC 

(b) Dacoity-Sectjon 391 IPC 

(c) Robbery-Section 389 IPC 

(d) Theft-Section 378 lPC 

40. Consider the following activities & arrange them 

into chronological ascending order as per relevant 
Sections of the Indian Penal Code. 
I. Sedition 

II. House Tresspass 

Ill. Communication made in good faith 
IV. Public Nuisance 

Select the correct answer using the code given 
below— 

Code - 

(a) Ill, I, l\J, II (b) Ill, lv, I, II 
(c) I, Ill, II, lv (d) lv, II, I, Ill 

41. The expression 'disaffection' used in Section 124-A 
of the Indian Penal Code includes - 
(a) disloyalty only 

(b) disloyalty and all feeling of enemity 
(c) all feeling of enemity only 

(d) hatred or contempt 

42. Assertion (A): A is a child of nine years. He 

intentionally killed B. A may be 

proved guilty. 

Reason (R): Child below the age of !welve year 

exempted from criminal liability. 

Select the correct answer - 

(a) Both (A) and (R) are true and (R) is the correct 

explanation of (A) 

(b) Both (A) and (R) are true but (R) is not correct 

explanation of (A) 

(c) (A) is true but (R) is false 

(d) (A) is false but (R) is true 

43. A hangman, who hang the prisoners pursuant to 

the order of the court is exempted from criminal 

liability by virtue of- 

(a) Section 77 lPC 

(b) Section 73 IPC 

(c) Section 78 IPC 

(d) Section 76 IPC 
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44. Match list-I with list-Il and select the correct answer 1—1 1 11—lI c' IIic1 i1i . ?-IT 

from the code given below the lists —
fR I 1 ctc i5T 4PT cP'cI 3R 

List—I
cpl W-M — 

A. Causing death by negligence. _____ 

B. Dowry death
A. \1T II ¶ lFd cP1l 

C. Abetment to suicide
B. cJ1 

0. Attempt to commit suicide
C. 31TT H WF 

List—il
D.31Tfc1I 5[ !1-lc'1 

1. Section 309 IPC
tt —Il

_____ 
i.ThT 309 ci).i 4Icii 

2. Section 306 IPC ______  
2. -TRT 306 

3. Section 304A IPC 
3. 1TT 304A ThT çU 

4. Section 304B IPC 4.ThT 3O4B1TI 
Code - - 

(a) (A)-3, (B)-4, (C)-2, 

(b) (A)-i, (B)-2, (C)-4, 

(0)-i 

(D)-3 
(a) (A)-3, (B)-4, (C)-2, 

(b) (A)-i, (B)-2, (C)-4, 

(0)4 

(D)-3 

(C) (A)-2, 

(d) (A)-4, 

(B)-4, 

(B)-2, 

(C)-1, 

(C)-3, 

(D)-3 

(0)-i 

(C) (A)-2, (B)-4, (C)-i, (D)-3 

(d) (A)-4, (B)-2, (C)-3, (0)-i 

45. Which of the following case is related to the 45. I—irei1ci   cIIc 3IcIlcPc1I 3Tl1W 

defence of necessity? tR 1ifTT t wifm *? 

(a) D.P.P. vs. Beard
(a)  i-II-i frr 

(b) R. vs. Dudley and Stephen
. (b) 3IT. T1 ''ScI1 1U 

(C) R. vs. Lipman
(C) &F. [91TI iiIi 

(d) caseofMc'Naughten
(d) iIci WI 

46. Arrange the following in the chronological 46. iIiRci cil 1RI 1IclI ci TRT3t 

ascending order as per relevant Sections of the tp ij c9l1I" llT 4f3i' — 

- I. India Penal Code — 

I. Document 4)qcL4c) 

Ii. Fraudulently III. 9I?1 

Ill. Dishonestly IV. c'l'lcp 
IV. Public Servant 4)t I   ctc 5T TZfrT  §, 
Select the correct answer using the code given 

below-
'fi-t — 

(a) IV, Ill, Ii and I (b) lii, II, l\I and
(a) iv, Ill, II i (b) Ill, II, IV rir I 

(c) I, II, Ill and IV (d) II, Ill, I and IV
(c) ,, II, Ill TIT IV (d) II, Ill, I ?[1T IV 

47. In executing a sentence of solitary confinement, 47. tcpj.-ç tfI[ cU I I 1Iiic'-t 1I 

such confinement shall in no case exceed, how tft'1T f51 4t II 1bci1 {t 3TI-1ZT5 9 

many days at a time? II? 

(a) 7 days (b) 14 days (a) 7 [.i (b) i4  

(C) 2i days (d) 01 month (c) 21 (d) 01 -lI 

   

I liii IIIIIIlIIIIIIIIIIIII 
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48. Assertion (A): The Indian Penal Code contains 

certain exemptions from criminal 

liability. 

Reason (R): These cannot be universal criminal 

liability in all circumstances. 

Select the correct answer - 

(a) (A) and (R) both are true and (R) is the correct 

explanation of (A) 

(b) (A) and (R) both are true but (R) is not the 

correct explanation of (A) 

(c) (A) is true but (R) is false 

(d) (A) is false but (R) is true 

49. Which one of the following is correctly matched? 

(a) Section 124A IPC — Criminal conspiracy 

(b) Section 340 IPC —Wrongful confinement 

(c) Section 350 IPC — Rape 

(d) Section 354C JPC—Stalking 

50. Match List—I with List—Il and select the correct 

answer using the code given below the lists — 

List—I 

A. Section 463 IPC 

B. Section 445 IPC 

C. Section 441 IPC 

D. Section 503 IPC 

List—Il 

1. Criminal tresspass 

2. Forgery 

3. Criminal intimidation 

4. House breaking 

Code- 

(a) (A)-2, (B)-4, (c)-1, (D)-3 

(b) (A)-2, (B)-4, (C)-3, (D)-1 

(c) (A)-2, (B)-1, (C)-3, (D)-4 

(d) (A)-1, (B)-2, (C)-4, (D)-3 

51. Which of the following is not an element of crime? 

(a) Human being (b) Mensrea 
(c) Actusreus (d) Object  

48. 3T1T;1 (A): rrr  3TrqTl5 

cpkUI (R): - 

3TJrft1 TfN ) 1 C 

f1•_ 

(a) (A)3 (R)c'1-I'i .-lcJ 3ft (R),(A) c 
c.!flq  * 

(b) (A)3 (R)c).l'i 1c  *f5T (R),(A) cl 

cii.ii* 

(C) (A) c-  * tl• (R) 3TT 

(d) (A)3 c*qz(R)-I  * 
49  

ct) fTT *? 

(a) j 124A IT?tT c U *ifii — 3TT1E5 

(b) 1TT 340 TRI — qft 1  

(C) UT 350 tIcii — lelIcck 
(d) 354C1izI iig *lIlT - LI ii 

50. cp 

4f   cf RIc1l :l- 3rl 

A. 1TT 463 '-1 FJ u 

B. TT 445 ITtI 

C. .TPT 441 HW11T rlii 

D. I1T 503 ITftT gu flT 

t1l—ii 

1. 3{ 3Tf 

2. c zMi 

4. 

(a) (A)-2, (B)-4, (C)-1, (D)-3 

(b) (A)-2, (B)-4, (C)-3, (D)-1 

(c) (A)-2, (B)-1, (C)-3, (D)-4 

(d) (A)-1, (B)-2, (C)-4, (D)-3 - 
51. ci ccl 3TT 5T ci ccl '-I 

(a) f[9FJ 1TU?t (b) lPT 

(C) aITqrNT T5lz (d) 
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52. Match list-I with list-Il and select the correct answer 

using code given below the lists - 

List-I List-Il 

A. 120A 1. Sedition 

B. 124A 2. Voyeurism 

C. 295A 3. Criminal conspiracy 

D. 354C 4. Deliberate and Malicious Acts 

intended to outrage religious 

feelings or any class by insulting 

religious belief or religion. 

Code - 

(a) (A)-1, (B)-2, (C)-3, (D)-4 

(b) (A)-2, (B)-4, (C)-1, (D)-3 

(C) (A)-4, (B)-3, (C)-2, (D)-1 

(d) (A)-3, (B)-1, (C)-4, (D)-2 

53. 'A' is a national champion of swimming in pond. He 

could have saved the child, but did not do so. The 

child drowned. Is 'A' guilty of - 

(a) murder 

(b) abetment of Suicide 

(c) culpable homicide not amounting to murder 

(d) no offence 

54• Match list-I with list-Il and select the correct answer 

using the code given below the lists - 

List-I 

A. Delivery of property 

B. Taking of property 

C. Entrustment of property 

D. Converti'bility of property got innocently to one's 

own use 

List-Il 

1. Criminal breach of trust 

2. Criminal misappropriation of property 

3. Theft 

4. Extortion 

Code- 

(a) (A)-4, (B)-3, (C)-1, (D)-2 

(b) (A)-3, (B)-4, (C)-1, (D)-2 

(C) (A)-4, (B)-2, (C)-3, (D)-1 

(d) (A)-3, (B)-1, (C)-2, (D)-4 

52. -1 c 1-II rf TT 
  il     P'If 

A. 120A 1.lil' 

B. 124A 2. cIcbc1I 

C. 295A 3.3flT1 1I 

D. 354C 4. {IFcI i { ik i' 

f 4 4 Tr1 {c1I'1 TT 

1 I5T 3T'TIT9 cfcb ETFftcP 

T9T31F  3U9 c 

Cl - 

(a) (A)-1, (B)-2, (C)-3, (D)-4 

(b) (A)-2, (B)-4, (C)-1, (D)-3 

(c) (A)-4, (B)-3, (C)-2, (D)-1 

(d) (A)-3, (B)-1, (C)-4, (D)-2 

'' ct T TPT F-i-ii *, ci 

cl c1k'Ill kcii *, cl 3HC) 

zfl cPc1I 1T I 'l 61tflc11, 1IT 'l 'ilicll 

*1 c  'A' lit * - 

(a) c-  5T 

(b) 3m IcI T5T 

(C) ç- ci1 iir1 9 3ITt cii1 3WTIff 41hI1 

(d) cp'I  3TtN1.T 'ii 

54. -l-lI c ift 

4 fr_Cl T l.< 

T t1j - 

A.WTI1 T 

B.WT1 5T lI 

C. FqfT r rr 
D.1T* !Ilc1 i--iRt c {{çi ct', ct 

3TTk PT ell'lI 

1.3lT1 Il"H WI 

2.Hff T 3I111IfT P1'l 

3. 

4.'I1 

ctc. - 

(a) (A)-4, (B)-3, (C)-1, (D)-2 

(b) (A)-3, (B)-4, (C)-1, (D)-2 

(C) (A)-4, (B)-2, (C)-3, (D)-1 

(d) (A)-3, (B)-1, (C)-2, (D)-4 

     

III lu I Il IlU 
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55. Disclosure of the identity of a rape victim is 

punishable under the following Section of IPC, 
1860- 

(a) Section 337 (b) Section 228 
(C) Section 229 (d) Section 228A 

56. For the validity of a contract, which of the following 
elements are necessary? 
1. Intention to create legal relationship 
2. Knowledge of the offer 
3. Writing of the agreement 
4. Acceptance of the offer 

Select the correct answer using the code given 
below— 
Code - 

(a) 2,3&4 

(c) 1,2&4 
(b) 1,3&4 

(d) 1,2&3 

57. An agreement, the meaning of which is neither 
certain nor is capable of being certain is 

- 

(a) Void (b) Illegal 
(c) Voidable (d) Valid 

58. Match list-I with list-Il and select the correct answer 

using the code given below the lists 
- 

List—I 

A. Section 16 Indian Contract Act 
B. Section 71 Indian Contract Act 
C. Section 2(d) Indian Contract Act 
D. Section 56 Indian Contract Act 

List—Il 

1. Consideration 

2. Agreement to do impossible act 
3. Undue influence 
4. Finder of goods 

Code- 

(a) (A)-2, (B)-3, (C)-]., (D)-4 

(b) (A)-3, (B)-4, (C)-]., (D)-2 

(c) (A)-3, (8)-i, (C)-4, (D)-2 
(d) (A)-2, (B)-4, (C)-]., (D)-3 

59. Which of the following is correctly matched? 

(a) Revocation how made 
- Section 5 Indian 

Contract Act 

(b) Acceptance must be absolute 
- Section 6 Indian 

Contract Act 

(c) Person competent to contract 

Indian Contract Act 

(d) Responsibility of finder of goods 

Indian Contract Act 

55. c'i I I Th1T I5T tftq ( Uj ]?J  
tfrr, 1860 ci;) ji-1 

(a) 337 (b) 228 
(c) jj 229 (d) iii 228A 

56.  

cicc4 IT1 ? 
1. f'il sj -I cb iT 3ITT?T 
2. 1'iiIc1 5T 1I1 

3.fTff 'frI' 15T '1'iI 
4Jl*cllcl 1c) 5ffi 

(a) 2, 3 3f1 4 (b) 1, 3 3fr 4 
(c) 1, 2 3ft 4 (d) 1, 2 31 3 

f51T '511iI TT id') - 

(a)j* 

(C) cfru (d) * 
u—I q) —II TT 

A.1TT 16TRJ Tf1a fi1 
B.ThT 71TPT fT f 
C. TIT 2(d) T1T fffT fl 
D.TFT 56]W?I F{fT f1i 

1.11 
2. 3T11 l5TZ  * 
3.3TPT p:lT 

4. 9Ic1 SI 41') cJIlI 
q- 

(a) (A)-2, (B)-3, (C)-]., (D)-4 

b) (A)-3, (B)-4, (C)-]., (D)-2 
C) (A)-3, (B)-1, (C)-4, (D)-2 

d) (A)-2, (B)-4, (C)-i, (D)-3 

'i1;iRci fr t? 
a) [-jU1 *r f5T 'ilicll - .ITT 5IT?tZ 

fTf 

b)  &rzrf'ei I rrf - arr 6 
1 

c) 4fr.0 q') fr jpi &f - mi lo 
RTT T f 

d) 4-Hl l'I 41') cllc) I5T I[~lci - TTT 71 
1RT TT f 

57.  

58.  

- Section 10 

- Section 71 

[16-A]-134102 
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60. Assertion (A): Agreements enforceable by law are 

contracts. 

Reason (R): Agreements not enforceable by law are 

void. 

Select tJ, correct answer using the code given 

below 

Code - 

(a) Both (A) and (R) are true and (R) is correct 

expatiOn of (A) 

(b) Both (A) and (R) are true but (R) is not correct 

explanation of (A) 

(c) (A) is true but (R) is false 

(d) (A) is false but (R) is true 

61. The cas6.f Tweddle vs. Atkinson is related with 

(a) Privrtjof Contract 

(b) Impossibility of performance 

(c) Gerrl offer 

(d) Antiatory Breach of Contract 

62. Match list-I with list-Il and select the correct answer 

from the code given below the lists — 

Listri 

(A) FrecdnSent 

(B) Misresentation 
C) 

(C) Coe(CiGn 

(D) Fraud 

List—Il 

(1) Section 17 Indian Contract Act 

(2) Section 15 Indian Contract Act 
Co 

(3) Section 18 Indian Contract Act 

(4) Sectjcm 14 Indian Contract Act 

Code - :r 

(a) A-1f, C-3, D-4 

(C) A-3, B-2, C-4, D-1 

63. Under  Section 2(C) of Indian 

'promisee' is the - 

(a) Person who makes the proposal. 

(b) Person who accepts the proposal. 

(C) Person who makes the promise. 

(d) Person to whom the proposal is made.  

60. 3Tr (A): ffRT 1cl    TfIT*I 

 (R): l'I 3TI 1?T cP'l' T I 

f i 
 - 

(a) (A)3Th (R)   1c 3ft (R),(A) T 

cII cpc1I - 

(b) (A)3t (R) c'H'j '1c (R),(A)) 

cLflI  cfrçfl 

(c) (A)'Hc4 *f (R)'llcicl 

(d) (A)"lelcl (R)c'1 * 

61. c1li P9TI {)'1'1 T chl — 

(a) tfT  

(b) LIct.l cl'l &rm 

(C) *ii -fl -Lf N-c1Ic4 

(d) ffi   TTF 

62. —I q —II ifm 12T 

1TC  

(A)*l  'Ift 

(B) Icicl 

(C)Wt 

(1) tI 17 fi & 

(2) TT 15 __ 

(3) 1TT 18 RT iT 3TfTI 

(4) 1TT 14 TlP flflct I &TffZPT 

 - 

(a) A-i, B-2, C-3, D-4 (b) A-4, B-3, C-2, D-i 

(c) A-3, B-2, C-4, D-i (d) A-2, B-3, C-i, D-4 

63. TP1 TfT tt c  lTT 2(C) 

* - 

(a) jf[ 'jl'l ,ic1Icl c1I *1 

(b) z1f1T Ji'1 *c1Il <cPI cfrclI *1 

(c) rfF ii'l 4rM clI *1 

(d) zTfT 1RTE fIi 11IcI NILll l'Il * I 

(b) A-4, B-3, C-2, D-i 

(d) A-2, B-3, C-i, D-4 

Contract Act 
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65. — 

(a) kI ;mthfrq 15T tfmj * 
(b)  

jf -f * 

64. iff 1872 * & w 

(A) 1ITE19T 5T RiTir 
(B)  

(C) TEF{ 

(D)  

(a) (C), (E), (A), (0), (B)
(b) (0), (8), (C), (A), (E) 

(C) (B), (D), (C), (A), (E)
(d) (A), (E), (C), (D), (B) 

64. 
Which one is the correct sequence from the 

following as implied in the India Contract Act, 
1872? 

(A) Offer of proposal 
(B) Contract 

(C) Promise 

(D) Agreement 

(E) Acceptance 

Select the correct answer - 

(a) (C), (E), (A), (D), (B)
(b) (D), (B), (C), (A), (E) 

(C) (B), (0), (C), (A), (E)
(d) (A), (E), (C), (0), (B) 

65. Point out the correct answer - 

(a) An agreement enforceable by law is a contract. 
(b) An agreement which is not enforceable by law 

is also a contract. 

(c) Every agreement is a contract. 
(d) None of the-above (c) :jfp4- * 

(d)  

66.
(A): fktTt 9T fr &rj 

Tr'ji *1 
51T (R): 3ITJ 

(a) (A) T(R) cj'j TJ 3ft( (R),(A) ) 
Trr * 

(b) (A) ?1T (R)
* f3T (R), (A) ) 

* 

(c) (A) rq * 1T (R) 3TTq * 

(d) (R) * tR (A) 3Tiq * 
67.

3TRT: ff 
u1  * T[ Tf1RT rfT TIT, 1872 

1T — 

(a)  

(b)  

(c) j 

(d)  

68. 'B'* 1000'A' * ci tr 
TT ilfr * I 'A' '3i 'B' 

cb' 500' Tfi fEFI 1TETftT 49'rr * I 

(a) 4ffi * 
(c) * 

66. Assertion (A): Invitation to make tenders is not an 

offer. 

Reason (R): A tender in response to such invitation 

is an offer. 

Select the correct answer - 

(a) (A) & (R) both are true and (R) is correct 

explanation of (A) 

(b) (A) & (R) both are true but (R) is not the correct 

explanation of (A) 

(C) (A) is true but (R) is false 

(d) (R) is true but (A) is false 

67. When consideration and object of an agreement is 

partly unlawful under Indian Contract Act, 1872, 

the agreement is - 

(a) Void 

(b) Voidable 

(c) Partially void and partially voidable 
(d) None of the above 

68. 'A' owes 'B' 1000 but the debt is barred by the 

Limitation Act. 'A' signs written promise to pay 'B' 
' 500 on account of the debt. This is a - 

(a) Contract (b) Void contract 
(C) Agreement

(d) Void agreement 

[16-A]-134102
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69. Match list-I with list-Il and give correct answer by 

using the code given below the lists — 

List—I 

(A) Voidable contract 

(B) Contract 

(C) Void agreement 

(D) Consideration 

List—Il 

(1) Section 2(d) Indian Contract Act 

(2) Section 2(g) Indian Contract Act 

(3) Section 2(i) Indian Contract Act 

(4) Section 2(h) Indian Contract Act 

Code - 

(a) A-4, B-3, C-2, D-1 (b) A-3, B-4, C-2, 0-1 

(C) A-i, B-2, C-3, D-4 (d) A-4, B-2, C-3, D-i 

70. Taylor vs. CaIdwell, 122 ER 309 is a leading case on 

which topic in Indian Contract Act, 1872? 

(a) Doctrine of
(b) Doctrine of Necessity 

Frustration 

(C) Offer
(d) Contingent Contract 

71. Which of the following Sections of Code of Civil 

procedure, 1908 deals with transfer of decree for 

execution? 

(a) Section 42 (b) Section 39 

(c) Section 51 (d) Section 16 

72. Arrange the following in the chronological order on 

the basis of Sections of Civil procedure Code, 

1908— 

69. -1 u—lI TT 

(A)  

(B) [ 

(C) ElR 

(D) ifTI 
—lI 

(1) T 2(d) TT 3Ttl 

(2) TRT 2(g) W IfT &If 

(3) 1T 2(i) 1T [fT 3TI 

(4) -ITT 2(h) T1t ifi &fkii 

(a) A-4, B-3, C-2, D-1 (b) A-3, B-4, C-2, 0-1 

(C) A-i, B-2, C-3, D-4 (d) A-4, B-2, C-3, 0-1 

70. iR [9T 122 tIT. 309 

:[f - T &tfr 1872 I5 twi 1 t5 

nii 

(a) (b) 31T[ZV15IT T 

fT 

(c) -Ttq9T (d) WflfE ili 

71. 'mi rti m, 1908 ct1 ff ct 

1TT ffU1T   f 31T 

(a)1T42 (b)1Tr39 

(c)±ThT51 (d)TrTi6 

72. fff ]# tf5T 1908 cic 

Th'1T1T t1T5 1cfT — 

(I) 5T [1 fi 19T 

(II) t-1 

(III) f 

(IV) f11 ;3:R fF1T 

(a) I, II, III 31 IV (b) I, III, II IV 

(C) II, I, III 3ft IV (d) II, Ill, I IV 

(I) Institutions of Suits 

(II) Res Judicata 

(III) Legal representative 

(IV) Arrest and detention 

Select the correct answer - 

Code - 

(a) I, II, Ill & IV (b) I, Ill, II & IV 

(c) II, I, III & IV (d) II, Ill, I & IV 

page 18 of 40 
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73
Which of the following Section in the Code of Civil 

Procedure, 1908 deals with settlement of disputes 
outside the court? 

(a) Section 88 

(c) Section 90 

(b) Section 89 

(d) Section 91 

'Movable Property' under Section 2(13) of the Code 
of Civil Procedure Code, 1908 includes - 
(a) growing trees (b) buildings 
(c) growing crops (d) money 

76. Section 75 of the Civil Procedure Code, 1908 
provides for - 

(a) Issuing Commission for getting opinion 
(b) Appointment of executors and administrators 
(c) Settlement of disputes outside the court 
(d) All of the above 

77. Match list-I with list-Il and select the answer using 

the code given below the lists - 
List-I 

(A) Execution of Decree 

(B) Letter of request 

(C) Legal representative 

(D) Institution of Suit 

List-Il 

(1) Section 50 CPC 

(2) Section 26 CPC 

(3) Section 77 CPC 

(4) Section 38 CPC 

Code - 

(a) A-i, B-2, C-4, 0-3 (b) A-2, B-4, C-i, 0-3 
(c) A-4, B-3, C-i, D-2 (d) A-3, B-4, C-i, D-2 

75. 

(a 

(C 

75. 

(a) 

(C) 
76. 

q)'<clj 

(a)  

(b)  

(c)  

-a-  * - 

(d)  

77. 

(A)  

(B)  

(C)  

(0) 

(1)  

(2)  
(3)  

(4)  

) A-i, B-2, C-3, 0-4 (b) A-2, B-3, C-4, 0-i. 
) A-3,B-2, C-i, 0-4 (d) A-4, B-2, C-3, D-i 

fTf T15T 1908 c ITT 2(13) 
rrftr \ifl9 'i1I' 111c1 * - 

(b) ijc 

3TT q5- 9- t (d) 

fTfkf TtR1T 1flT, 1908 cl) T1T 75 miir 

T?1 li1c1 ffIR ii1 cP  5T 
f lqc T MlI'-IcP q) fIZfI r 

I -1 kl I iZ1Tt 

Ct)') -ll $ffl -u rzff -  1  T C1  q)  

if 

clI  t5T frr cp- 

-lI 
TT 50 frfT T TfT 
TT 26 fdT T rfm 
TT 77 fT ri 

aTT 38 fT 5T TfT 

(a) A-i, B-2, C-4, D-3 (b) A-2, B-4, C-i, 0-3 
(C) A-4, B-3, C-i, D-2 (d) A-3, B-4, C-i, 0-2 

74. 
Match list-I with list-Il and give correct answer by 
using the code given below the lists - 

List-I 

(A) Adjournment 

(B) Execution of Decree and orders 

(C) Plaint 

(D) Affidavit 

List-Il 

(1) Order 19 CPC 

(2) Order 17 CPC 

(3) Order 21CPC 
(4) Order7CpC 
Code- 

(a) A-i, B-2, C-3, 0-4 

(c) A-3, B-2, C-i, D-4 

(b) A-2, B-3, 

(d) A-4, B-2, 

C-4, 

C-3, 

0-1. 

0-1 

3•
i, 1908 q  fr 

rrtir t? 
(b) -- 89  

(c)ip- g0 (d)pg1 
4. -1 i -ll rT jPIf 

 f T c  q 

(A) TN 

(B)f 3-311kf I5T Ilj 
(C) lTTf5E - 

(0) l-l2Ttf 

(1) flT 19 4 ri fm 
(2)3ITkTi7 T4 tf 

21 rr r 
(4)3ffkT 7 TT TfT 

[16-A]-134102 
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78. Provision regarding adjudication of Claims and 

Objection to attached property is - 

(a) Order 21 Rule 58 CPC 

(b) Order 21 Rule 59 CPC 

(c) Order 21 Rule 57 CPC 

(d) None of the above 

79. "No appeal shall lie from a decree passed by the 
court with the consent of the parties." It is provided 

in - 

(a) Section 96(1) CPC 

(b) Section 96(2) CPC 

(C) Section 96(3) CPC 

(d) Section 96(4) CPC 

80. Which of the following combinations are correctly 

matched? 

(1) interpleader Suit - Order 35 CPC 

(2) Judgment and Decree - Order 20 CPC 

(3) Withdrawal and Adjustment of Suits - Order 23 

CPC 

(4) Payment into Court- Order 21 CPC 

Select the correct answer - 

Code - 

(a) 1,2and3 

(C) 1,3and4 

81. Devilal Modi vs. STO AIR 1965 SC 1150 is a leading 

case on which topic? 

(a) Stay of Suit (b) Place of Suit 

(C) Constructive res (d) Interlocutory orders 

judicata 

82. Who has the authority to fix scales of monthly 

allowances payable for subsistence of judgment 

debtor? 

(a) District Court (b) State Government 

(C) District Magistrate (d) High Court 

83. Which of the following suits are of civil nature? 

(1) Suits related to Right of Worship. 

(2) Suits for rights of hereditary offices. 

(3) Suits for recovery of voluntary payments or 

offerings. 

(4) Suits for specific relief. 

Select the correct answer - 

Code - 

(a) 1, 2 and 3 (b) 2, 3 and 4 

(c) 1, 2 and 4 (d) 1, 3 and 4  

78.  
19_fu IT[ 1WT1T9 t - 

(a) TkT 21 fT 58f T ifT 

(b) &rkT 21 ffT 59 ftTfT f5T fII 

(c) 31T 21 fr 57 fTfI TfT 1tIT 

(d) ct i 

79. "tf  [T[f 1III-1 R1 rrr f 
(3TrfT) f 3T I" 

(a) rftr SIfTT iflT ciS' 1TT 96(1) 

(b) frfN T[f5IT ilii  '?ThZT 96(2) 

(c) f1fT f5T 4trn  ct') 1TT 96(3) 

(d) rf [f5zr[ 4tT CI  mi 96(4) t 

(1) 3[f cBc - 3T 35 fif TfT 

fm 
(2) fPT 11T fi - 3IT 20 f1ftf If5RIT 

(3) ClIc) 1c) lTh1I Lcl I'il1 - 31TT 23 

f T m 
(4) R1T?1T14t - 3ITkT 21 

i fi 
- 

 - 

(a) 1,211T3 (b) 1,2 

(c) 1,311lT4 (d) 2,3 

81. c?11c'l TI't 41I9 'Hth.31. 

1150 f51 11'11 t 

(a) CII  c'  f(b) cc 

'ilI1I 

(c) ffilfiZ il ILl (d) ikii1 ITT 

82. f4 f f 
:i-k 11511119fIft11 1151 3T1WR f51 I-i I 

(a) fr511 --llc'l1 (b) I'4 1cPk 

(C) fff1T 3Tt15Tr (d) 3tzf l'-lle1'1 

83. 1i{iRci 1191T cII  ftit wj5f i 

(1) 1T 3T1T T1T1 CIIc 

(2) CIII1jId cbI'IIe1-') fT' CJK I 

(3) *~) 19 T 411 4) 1 

cIIc I 
(4)11l{ cflc 

\31 

4'c. - 
(a) 1,23ft 3 

(c) 1,23ft4 

(b) 1,2 and4 

(d) 2, 3 and 4 

S 
(b) 2,33ft 4 
(d) 1,33ft 4 
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84. Which one of the following is not correctly 84. Pt-.11jRc1 ctdl cf R'ici 'i'i *? 
matched?

(a) T[T 2(2) Ri1kr 1i *iIcii—ffl 
(a) Section 2(2) CPC —Decree

(b) TRT 2(9) Ri1k'i *-it_fru 
(b) Section 2(9) CPC—Judgement

(C) 2(13) I1Ic4 1bii 11c1[-31TkT 
(c) Section 2(13) CPC — Order

______ ______ 
(d) 2(6) R-j1kj !l1b4l I—il P"1 (d) Section 2(6) CPC — Foreign Judgment 

85. Whichofthefollowingstatementsis/arecorrec? 85. -l{J{cici 1 lT/ 5F1 IT */*? 
(1) Pleading to state material facts and not (1) &ffEEFE dI1IcP 1Zh l5T, 1b iwr 

evidence. T49 i'ii I 

(2) Amendments of pleadings is provided in order (2) 3Tf 5T 9?EI9 ft11ci !41bLIl *iI.cii * 

VI Rule 16ofCPC. 3TrTVl flR:PT 16 1T1Tfm *1 

Select the correct answer- \3-cI — 

(a) Only 1 (b) Only 2 (a) icii 1 (b) cjc1e1 2 

(C) Both iand2 (d) Nieitherinor2 (C) i3ft2 1i'i (d) 9 ilT 2 

86. Which Section of the CPC prohibits arrest or 

detention of woman in the execution of a decree of 

money? 

(a) Section 55 (b) Section 56 

(C) Section 59 (d) Section 60 

87. Match list—I with list—Il and select the correct 

answer using the code given below — 

List—I 

(A) Settlement of dispute outside the court 

(B) Suit by or against Government 

(C) Interpleader Suit 

(D) Resistance to execution 

List—Il 

(1) Section 74 CPC 

(2) Section 88 CPC 

(3) Section 79 CPC 

(4) Section 89 CPC 

Code- 

(a) (A)-4, 

(b) (A)-4, 

(B)-3, 

(B)-2, 

(C)-2, 

(C)-1, 

(D)-1 

(D)-3 

(C) (A)-3, 

(d) (A)-3, 

(B)-4, 

(B)-2, 

(C)-2, 

(C)-4, 

(0)-i 

(0)-i 

88. Order XX — A of the Civil Procedure Code applies to 

which of the following? 

(a) Withdrawl of Suits (b) Appeal 

(c) Cost (d) Judgment  

86. i1i *i1ii c 1TT T9 c 

f 1Ic1 r- q  1tcii'  ZT fri 

ii fr wth 

(a) (b)aJ56 

(c) flf 59 (d) ITT60 

87. —1 c) —ll Rici u iji 

iif- 

l—1 

(A) '-lkIlelLI * IT Riiii i Piqcj'i  

(B) 1ctN l'I ZIT \3'1c 1i cllc 

(C)3TTf4TE1 cIJc 

(D) PItiiict 15T i1i 

(i)iTT 74 {1I1e1 !1bI '11c1l 

(2)1TT 88 1iRki 1b1i *l1c1l 

(3)11T 79 Ri1 1ii 1ii 

(4)ThT89 1-i1ki W1bl *i1c1l 

(a) (A)-4, (B)-3, (C)-2, (D)-1 

(b) (A)-4, (B)-2, (C)-1, (D)-3 

(C) (A)-3, (B)-4, (C)-2, (0)-i 

(d) (A)-3, (B)-2, (C)-4, (0)-i 

88. I1IeI !,ilb1I lIciI T5T 3ITF XX — A 1i 
t 11'L lcii *? 

(a) cijq  t) ciiRhi ckI (b) 3Ttj[ 

(c) (d) {u1i 
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89. Match list-I with list-Il and select the correct 
answer using the code given below the lists - 

List-I 
(1) Section ii CPC 

(2) Section 26 CPC 

(3) Section 33 CPC 

(4) Section 35 B CPC 

List-Il 
(A) Institution of Suits 

(B) Resjudicata 

(C) Costs for causing delay 

(D) Judgment and Decree 

Code - 

(a) (A)-1, (B)-2, (C)-3, (D)-4 

(b) (A)-2, (B)-1, (C)-4, (D)-3 

(c) (A)-3, (B)-4, (C)-i, (D)-2 

(d) (A)-4, (B)-3, (C)-2, (D)-i 

90. Subject to Sub-Section(2) of Section 64 of the Code 

of Civil Procedure, 1908, a private alienation of 

property after attachment is - 

(a) Voidable (b) Improper 

(C) Lawful (d) Void 

91. Which Section of Cr.P.C. is related to "no 

unnecessary restraint"? 

(a) Section 49 (b) Section 44 

(c) Section 46 (d) Section 43 

92. Match list-I with list-Il and select the correct 

answer using the code given below the lists - 

List-I 

(A) Contents of charge 

(B) Judgment 

(C) Assistant Public Prosecutor 

(D) Reference to High Court 

List-Il 

89. -1 u-Il 'Rici c{ [1T 

(1)1TT ii{iRlei 1b.1I 'HIc1I 

(2)TT 26R1{k1 !l1bIl 'dIcil 

(3)TT 33R1R1 Ef51I '11c1l 

(4)TRT 35B11I MI4t 1IcII 

-ll 
(A) CII cl 5T TfQTT f1T 'ill 'II 

(B) I1/!lll1 

(C)1Ic cplRcl cp 

(D)fI'@I 
c4 - 

(a) (A)-1, 

(b) (A)-2, 

(B)-2, 

(B)-1, 

(C)-3, 

(C)-4, 

(D)-4 

(D)-3 

(C) (A)-3, 

(d) (A)-4, 

(B)-4, 

(B)-3, 

(C)-1, 

(C)-2, 

(D)-2 

(D)-1 

90. CII4) .lib-Il '1{c1I, 1908 ci1 TRT 64 3t1TT(2) 

*ITT   ITf 

(a)  (b) 3 -Flc1 t 

(C) ftfi ji (d) izj * 

91. !$b4I '1Ic1I cf  ctk 1TT "31'1ICIIcP 

&T9cp"tlTt? 

(a)4g (b)44 

(c)46 (d)ThJ43 

92. -1 cP'I -ll 1ici 41RTI'. W-1T 
*f'T CIc cI 

(A)3ITtI cf) 3c1ckc 

(B)f'Jf1 

(C)1l'lcP ei'lcp flr 

(D)3tzl  cli) PI 
T)-II 

11I 1Ic1I 

i1b-ii HIc1I 

1Ic1l 

.lRbLII 1Icll 

(C)-2, (0)-i 

(C)-3, (D)-2 

(C)-2, (0)-i 

(C)-3, (D)-i 

(1) Section 395 Cr.P.C. 

(2) Section 25 Cr.P.C. 

(3) Section 353 Cr.P.C. 

(1) -TFT 395 

(2)TT 25 

(3) fl[ 353 

çU 

(4) Section 211 Cr.P.C. (4)1TT 211 

Code- C - 

(a) (A)-3, (B)-4, (C)-2, (D)-1 

(b) (A)-1, (B)-4, (C)-3, (D)-2 
(a) (A)-3, 

(b) (A)-1, 

(B)-4, 

(B)-4, 
(C) (A)-4, (B)-3, (C)-2, (0)-i 

(d) (A)-4, (B)-2, (C)-3, (0)-i 
(C) (A)-4, 

(d) (A)-4, 

(B)-3, 

(B)-2, 
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93. Where lies the procedure under Criminal Procedure 

Code, 1973, when corporation or registered society 

is an accused? 

(a) Section 319 (b) Section 304 

(C) Section 305 (d) Section 306 

94. Match list—I with list—Il and select the correct 

answer using the code given below the lists - 

List—I 

(A) Language of the Court 

(B) Compensation to the victim 

(C) Classification of offences 

(D) Inherent powers of High Court 

List—Il 

(1) Section 482 Cr.P.C. 

(2) Section 272 Cr.P.C. 

(3) Section 357 Cr.P.C. 

(4) 15t  Schedule Cr.P.C. 

Code - 

93. IILll1cP f5- :4-[ '-IIc1I, 1973 • f5- fTj1J T 

i{Ri & cç ) cp'U fc) 1l P 

wriftm *? 

(a) T[[ 319 (b) 304 

(C) 305 (d) TT 306 

94. t—1 c IRici qcr3i r-u iji 
l c1— 

(A) - llLu-I cf1 'fllff 

(B) 1 1cl Ci)') 

(C) &trcnu1 cIl  

(D) \3tx1 l-llei'l cf) ciP1Tci lRFd1I 

u—Il __ 

(1)-1TT 482 Ic1I 

(2)1T 272' I1-II -lIc1I 

(3)EffT 357 41bI 1{c1I 

(4)Tf 1III {c1I 

(a) (A)-2, (B)-3, (C)-4, (D)-1 (a) (A)-2, (B)-3, (C)-4, (D)-1 

(b) (A)-3, (B)-1, (C)-2, (D)-4 (b) (A)-3, (B)-1, (C)-2, (D)-4 

(c) (A)-4, (B)-2, (C)-3, (D)-1 (c) (A)-4, (B)-2, (C)-3, (D)-1 

(d) (A)-1, (B)-4, (C)-2, (D)-3 (d) (A)-1, (B)-4, (C)-2, (D)-3 
95. Which Section of Cr.P.C. has provision for 

cancellation of warrants? 

(a) Section 69 (b) Section 70 

(C) Section 71 (d) None of the above 

96. Assertion (A): Inquiry precedes trial. 

Reason (R): Trial is the third stage of criminal 

proceeding. 

(a) (A) and (R) both are true and (R) is the correct 

explanation of (A) 

(b) (A) and (R) both are true but (R) is not the 

correct explanation of (A) 

(C) (A) is true but (R) is false 

(d) (A) is false but (R) is true 

97. An offence punishable with imprisonment for a 

term exceeding two years relates to - 

(a) Summon cases 

(b) Warrant cases 

(c) Both of the above (a) & (b) 

(d) Neither of the above (a) & (b)  

95. ug Il lIc1I cT ctl—) CII 
{UJ riui 

(a)69 (b)p70 

(c) 71 (d) 1qçi 

96. 3TTT (A): \jIIt ItII..UI 4cic1tl 
cpIUI (R): R1t1IUI 3TPTTfTh cPII f5T c1-t'I 

ri ti 

(a) (A)3ft (R)c'k 1c1* 3Th (R),(A)fc) 9t 

cIsI * 

(b) (A) (R) )i') !c'.I * RI (R), (A) c  T[ 

C1II 

(c)  

(d) (R)dc  * tF (A)31ITI * 

97. 3Tf1EI 3Tff-T * cPl'l1I 

3TT1T cpl TFT t — 
(a) --j i- 

(b) cju -ii-ici 

(c) ctcl (a) TTF(b) c'k') 

(d) CIcI (a) W1T(b) c'1i) 



98. Match list—I with list—Il and select the correct 

answer from the code given below the lists — 

List—I 

(A) Arrest by Magistrate 

(B) Arrest by private person 

(C) Arrest how made 

(D) Arrest by police officer without warrant 

List—Il 

(1) Section 41 Cr.P.C. 

(2) Section 43 Cr.P.C. 

(3) Section 44 Cr.P.C. 

(4) Section 46 Cr.P.C. 

Code- 

98. ci'l —ll 1ici c{i 1T i: iIl'l 

T\1' 

T zl41 11i — 

(A) 9fjc. lI Itc1I') 

(B) c.l1çi l'I 

(C) 11ctI' c iiifl 

(D) 1ii 3T1EI5Tt RT fT jjuc 

—lI 

(1) 1TT 41  i1bii Ic1I 

(2) -1TT 43 cP  11LlI '1[c1! 

(3)f 44 c U  !11bII IciI 

(4)1TT 46  111I 1Ic1I 

(a) (A)-1, 

(b) (A)-3, 

(B)-2, 

(B)-2, 

(C)-3, 

(C)-4, 

(D)-4 

(D)-1 

(a) (A)-1, 

(b) (A)-3, 

(B)-2, 

(B)-2, 

(C)-3, 

(C)-4, 

(D)-4 

(D)-1 

(C) (A)-2, 

(d) (A)-3, 

(B)-3, 

(B)-2, 

(C)-1, 

(C)-1, 

(D)-4 

(D)-4 

(C) (A)-2, 

(d) (A)-3, 

(B)-3, 

(B)-2, 

(C)-1, 

(C)-1, 

(D)-4 

(D)-4 

99. Which one of the following Section of Criminal 

Procedure Code, 1973 provides that, 'No judge or 

Magistrate shall try any case in which he is 

personally interested'? 

(a) Section 477 (b) Section 481 

(C) Section 478 (d) Section 479  

99. i1bii 'HIc1l, 1973 cf'l 1i 9TT31 

f51 TRT c  Th1I * 1b 'cp T?11ThT 

-- -, i 

*, 1Frii'i 'i'i cpI? 

(a) gj 477 (b) IN 481 

(C) TkT 478 (d) [J[ 479 

100. lhesubjectofcriminalprocedurefallsinwhichone 100. cu 1i ITI fffTF1 q) frir 

ofthefollowingListoftheConstitutionof India? 1ui i ici4ci ITiT *? 

(a) Union List (b) State List (a) -j E1 (b)  

(C) Concurrent List (d) None of the above (C) (d) jcçI ct -t'l 

101. Arrangethefollowinginthechronologicalorderon 101. IIc1 cp'1 i1b.i *iIcii c 1TT'3I 

the basis of Sections of Criminal Procedure Code — t  fir cifli — 

I- Public prosecutor I- 

II- Special Metropolitan Magistrate II 
Ill- Special Judicial Magistrate

III - II1P 91l - c 
IV- Court of Session 

lV- -tI I'-lll-I 
Select the correct answer using the code given f ip  i 
below— — 
Code - 

(a) I, II, Ill and IV (b) IV, Ill, II and I
(a) , II, III l'J 

(c) III, IV, II and I (d) I, IV, Ill and II
(c) III, IV, II I 

(b) IV, III, II I 

(d) I, Iv', Ill II 
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102. When the accused is aggrieved by the report of the 

Psychologist as to his unsoundness of mind, he may 

appeal to — 

(a) Magistrate hearing the case 

(b) High Court 

(C) Medical Board 

(d) Session Court 

103. Which of the following is not correctly riached? 

(a) Trial by High Court — Section 473 ofC1' P.C. 

(b) Power of High Court to make rules — Section 

477 of Cr. P.C. 

(C) Appeal in case of acquittal —Section 378 of Cr. 

P.C. ç) 

(d) Resumption of inquiry or trial — Seio 331 of 

Cr. P.C. 

104. Which Provision of the Cr.P.C. reseMles with 

Habeas Corpus Writ? 

(a) Section 91 (b) Section 93 

(C) Section 97 (d) Section 

105. Which one of the following is correctly rntched? 

(a) Section 44 Cr.P.C. — When policeUjy arrest 

without warrant 

(b) Section 42 Cr.P.C. — Arrest on refusal to give 

name and residence 

(C) Section 41 Cr.P.C. — Arrest by Magistrate 

(d) Section 43 Cr.P.C. — Arrest how maè 

106. Who is given protection from art under 

Section 45 of the Code of Criminal jocedure, 

1973? 

(a) President of India 

(b) Members of armed forces 

(c) Judicial Officers 

(d) Members of Parliament  

102. )l 31T1 11lPIcP   fr 1Ri c 

2T11T q< 1cPc1l 

(a) ct,' cII 

(b) 3tz1 'I-lIc'l'-I 

(c)  

(d)  --1IIQ14 

103. iRiPsici Ik'ici  ? 

(a) 1I-lIcl1 '1- -T 1z1II — .TrT 473 

11-I '1Ic1I 

(b)  - i ct fm T1 cicl rf — 

ThT 477 iii 1Ic1I 

(c) c{hi cI  clI — ThT 378' 

1b-ii 'i1ii 

(d) 'iII1  Zff PtIkUI cp'1 [: tlIQ1 cplt — 

331 li-1I 1Ic1l 

104. qu ,1Rbil dIc1I T cti.l—ff 1T1T1 i'41 

1k ri *? 

(a) (b)p93 

(c)Rr97 (d)p9 

105. i1i1ci ciii—iT 1ci t? 

(a) 44  1l *I1I — cui 

1*91 P1'.41k (4T 

(b) 1TT 42 qu  {1I d[c1I — 3I1 Ilc1k1 

IT1 -PI  cP R Ic1I) 

(c) ThT 41 11kI '1Ic1I — 

1) 4c11 

(d) -ThT 43 WRI.lI '1IciI — I qcii) 

cf 'lI' 

106. lIbiI '1Ic1I, 1973 ct) TR[ 45 3114c1 

fi Ic1I jfflT l'1 m "I  *? 

(a) 11Rt 

(b) Iqç-  &sIe1' 

(c) -iIcp aifTn 

(d) *i*v *  
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107. Match list-I with the list-Il and select the correct 107. -i q') -n Iic1 uii 
answer using the code given below the lists - 4)-a cl2c, ici - 

List-I 

(A) Duty to register FIR (A) &E.31T. cr1 TT cpC1cLI 

(B) Laches in investigation (B) - 

(C) Faulty investigation (C) 
(D) Delay in examination of witnesses (D) lll * q'1TT IkIl-EI 

List-Il 

(1) Rajinder Singh Katoch vs. Chandigarh
(1)  ft cpc -tii 1lI -I1 tt 

Administration and others 

(2) Krishnegowda vs. State of Karnataka
(2) WII 1-II -I cblkcb 'l'-r-f 

(3) Saidu Mohammed vs. State of Kerala
€1-IN-I 'c'I TE 

(4) Surjit Sarkarvs. State of West Bengal
(4) frIl 4-1 6lIkl 'I'-rI 

Code- 

(a) (A)-1, (B)-2, (C)-3, (D)-4 

(b) (A)-2, (B)-1, (C)-3, (D)-4 
(a) (A)-1, 

(b) (A)-2, 

(B)-2, 

(B)-1, 

(C)-3, 

(C)-3, 

(D)-4 

(D)-4 
(C) (A)-4, 

(d) (A)-3, 

(B)-3, 

(B)-1, 

(C)-1, 

(C)-2, 

(D)-2 

(D)-4 
(c) (A)-4, 

(d) (A)-3, 

(B)-3, 

(B)-1, 

(C)-1, 

(C)-2, 

(D)-2 

(D)-4 

108. A Session Judge, under Section 9(2) of Cr.P.C. is 108. qu 1ll *lIc1I Cci TRT 9(2) 3TPftT lcp 

1I1i   llcf) 
appointedbythe-

3:lTth *1 

(a) District Magistrate (b) State Government (a) (b) 'jr .-i'cll 

(C) &t -qIllc'l4 (d) yq1 
(c) High Court (d) None of the above 

109. Match list-I with list-Il and select the correct answer 

using the code given below the lists - 

List-I 

(A) Anticipatory Bail 

(B) Cognizance on complaint 

(C) Language of Court 

(D) Security of good behaviour from habitual 

offender 

List-Il 

(1) Section 272 Cr.P.C. 

(2) Section 110 Cr.P.C. 

(3) Section 438 Cr.P.C. 

(4) Section 190 Cr.P.C. 

Code- 

109. -1 3ft -II     -1)  { 
qc m '1N-1c1I dl' - 

(A)3TfPT 'ii1Iic1 

(B) 1-11c1I4 

(C) '--ii.ik'i-1 it IT1T 

(D)3rTt&rITztt 1cHtlI'  * 1I' 1frTf 

(1) TT 272 cUS 1-4I 1Ic1I 

(2)1TT iio. 41I 1Ic1I 

(3)-ThT 438' 11i '1IciI 

(4)-TET 190  {frqI '1Ic1I 

(a) (A)-2, 

(b) (A)-1, 

(B)-4, 

(B)-3, 

(c)-1, 

(C)-4, 

(D)-3 

(D)-2 
(a) (A)-2, 

(b) (A)-1, 

(B)-4, 

(B)-3, 

(C)-1, 

(C)-4, 

(D)-3 

(D)-2 
(C) (A)-4, 

(d) (A)-3, 

(B)-2,. 

(B)-4, 

(C)-3, 

(C)-1, 

(D)-1 

(D)-2 

(C) (A)-4, 

(d) (A)-3, 

(B)-2, 

(B)-4, 

(C)-3, 

(C)-1, 

(D)-1 

(D)-2 
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110. Permission to investigate into a non-cognizable 

offence can be granted by - 

(a) Magistrate first class in any part of India 

(b) Magistrate in any part of State 

(C) Magistrate having Jurisdiction to try the 

offence 

(d) Session Judge 

111. Match list-I with list-Il and select the correct answer 

from the code given below the lists — 

List—I 

(A) Equal Justice and Free Legal Aid 

(B) Constitution of Parliament 

(C) Separation of Judiciary from Executive 

(D) Fundamental Duties 

List—U 

(1) Article 50 

(2) Article 51A 

(3) Article 39A 

(4) Article 79 

Code - 

(a) (A)-1, (B)-2, (C)-3, (D)-4 

(b) (A)-2, (B)-3, (C)-4, (D)-1 

(C) (A)-3, (B)-4, (C)-1, (D)-2 

(d) (A)-1, (B)-4, (C)-2, (D)-3 

112. Which Article of Constitution provides for 

establishment of 'Goods and Services Tax Council'? 

(a) Article 269A (b) Article 270 

(c) Article 279A (d) Article 279 

113. Assertion (A) : Right to Education is a 

Fundamental Right. 

Reason (R) : Our Constitution has no provision for 

education before making Right to 

Education as Fundamental Right. 

Select the correct answer - 

(a) Both (A) and (R) are true and (R) is the correct 

explanation of (A) 

(b) Both (A) and (R) are true but (R) is not a correct 

explanation of (A) 

(c) (A) is true but (R) is false 

(d) (A) is false but (R) is true  

110. 31tZT 3TqT 1c) Rlil c  m 

- 

(b1 

(c)3qq') l3ffff  

c1kl 41II TT 

(d)  ;R:rI-.mThT TT 

-1 u—Il cf I11c1 qc'ffç fT 1:p:1f 
 clR1T cp  

cpIp 1i— 

(A) N-II'--1 z1TIr 3 IIctb ff l-lc1I 
(B) --Ic cl)I lci 

(C) cPIYII1cbI -IINI11cbI c( ctcpUl 
(D)f ccoLI 

—II 
(1)3tt 50 

(2) 3tc 51A 

(3)3tc 39A 

(4)3JE 79 

(a) (A)-1, (B)-2, (C)-3, (D)-4 

(b) (A)-2, (B)-3, (C)-4, (D)-1 

(C) (A)-3, (B)-4, (C)-1, (D)-2 

(d) (A)-1, (B)-4, (C)-2, (D)-3 

112. ffrmi cbl c4')l -II 
tftp cf') ITT ct I WTThT ct)' cii 

(a) 3tk 269A (b) tc 270 

(C) .3]kc4 279A (d) tc 279 

113. ili (A): 1lU f5T 3T1.TE5R 1icb 

&fffr * I 

q,JUJ (R): {lU 3Tf151 cl  41RICb 3rf 

r9T f{ 1IT 

3Tf1 c  

Tl 

11 \3l' — 

(a) (A).3t (R)c')-1 T1* 3ft (R),(A)cf1 rt 

r1cUl * 

(b) (A).3t (R)c'l-I -icLt * tR (R),(A)cb! 

cUI ftf * 
(c) (A)1cLJ*t(R)3f&zTt 

(d) (A)3fflRII * tRF (R)*icLl t 
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114. By the Constitution l03 Amendment Act, 2019. 114. TF[ 103 TTT 3ItlflRTJT, 2019 TT 

which one of the following Clause was added to c)l—dl l'cl 

Article 16 of the Constitution of India? 16 'ii')sI lLll? 

(a) Article 16 (4-B) (a) 3{ -ckc 16 (4-B) 

(b) Article 16 (5) (b) 16 (5) 

(C) Article 16 (6) (c) 3TkI1  16 (6) 

(d) Article 16 (7) (d) 31-t 16 (7) 

115. Match list-I with list-Il and select the correct answer 115. —I cp')  3t— lI Ilc1 C)RII ir 

usingthecodegiven belowthe lists— 4i ft  cc '3cl  cp') qjl1 — 

List—I 

(A) Right against Exploitation (A) tI l' &PTT 

(B) Equal justice and free legal aid (B) -H-ll -1 1TT ct fIf1ET '-ll-Icll 

(C) Power of President to grant pardon (C)   cb' c) l < Ll1 cf ]f[ 

(D)SeatofSupremeCourt (D)cl 'l1lci1 CM l'1 

List—Il 

(1) Article 39A (1) 39A 

(2) Article 130 (2) 31t4 130 

(3) Article 23-24 (3) 23-24 

(4) Article 72 (4) 31.- tkc 72 

Code -  — 

(a) (A)-1, (B)-2, (C)-3, (D)-4 

(b) (A)-3, (B)-1, (C)-4, (D)-2 

(C) (A)-2, (B)-3, (C)-1, (D)-4 

(d) (A)-4, (B)-1, (C)-2, (D)-3 

116. Under which one of the following Articles of the 116. flJ -r4ç 4- -'-ll1lc'l'1 cp') 1T 

1{ fT 3t 
Constitution of India, the Supreme Court has power 

ii'i4ci 3Tk lFd'lcM1 c 
to review its own decisions? 

(a) Article 136  (a) 136 

(b) Article 135 (b) 3.--cc 135 

(c) Article 137
(c) 137 

(d) Article 138
(d) ckc 138 
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(a) (A)-1, 

(b) (A)-3, 

(B)-2, 

(B)-1, 

(C)-3, 

(C)-4, 

(D)-4 

(D)-2 

(C) (A)-2, 

(d) (A)-4, 

(B)-3, 

(B)-1, 

(C)-1, 

(C)-2, 

(D)-4 

(D)-3 



 

117. cp 1 —lI T2T T1d  3i1 

 

117. Match list-I with list-Il and select the correct answer 

 

using the code given belowthe lists— cic T 1' I c '3I cpl 

List—I ERR 

(A) Article 43 

(B) Article 42 (A) 43 

(C) Article 44 (B) 42 

(D) Article 50 (C) t'c 44 

List—Il (0) 31-tk4 50 

(1) Separation of Judiciary from Executive 

(2) Living wage, etc., for workers (1) cpl 4I1lcPI T1 II4'-1l11Pl 3T'T cP1I 

(3) Provision for just and humane conditions of
(2) 3T1p'1 fT ff6 lc 3ITf 

(3) -ii -i'IFici -iI'1c 1t ci ft rt 

work and maternity relief 
U6c1 15T 1T4ThT 

- 

118. lncaseofdeathOfthePreS1dentWhumn0ce,t 118. q q  jg{ c t ii 

Vice President can act as President for a maximum pg ctcp 

period of- * - ii- HCPII 

(a) iyear (b) 3 months (a) ic (b) 3 1-116 

(C) 2years (d) 6 months (c) 2cI (d) 61l6 

(4) Uniform Civil Code 

Code- 

(4) 'd9I1 fi1lci *1Ic1I 

cc. — 

(a) (A)-1, 

(b) (A)2, 

(B)-2, (C)-4, (D)-3 

(B)-3, (C)-4, (D)-1 

(a) (A)-1, 

(b) (A)-2, 

(B)-2, 

(B)-3, 

(C)-4, 

(C)-4, 

(D)-3 

(0)-i 

(C) (A)-2, 

(d) (A)-3, 

(B)-4, (C)-i, (D)-3 

(B)-4, (C)-1, (D)-2 

(c) (A)-2, 

(d) (A)-3, 

(B)-4, 

(B)-4, 

(C)-1, 

(C)-1, 

(D)-3 

(D)-2 

119. Which of the following pair is not correctly 

matched? 

(a) Short title of Constitution — Article 1 

(b) Official language of State — Article 345 

(c) Advocate General for the State — Article 165 

(d) Constitution of Parliament — Article 79  

119.  

-t  t? 

(a) ffTFE E15T f1ftT 9Tf — 

(b) 'l'r-T [ITIT — 3TE 345 

(C) q T 6II1cic1l — 165 

(d) I c1 — 3I-k 79 
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120. Match list-I with list-Il and select the correct answer 

using the code given below the lists — 

List—I 

(A) Distribution of Legislative power 

(B) Organisation of Village Panchayats 

(C) Extent of executive power of the Union 

(D) Parliamentary privileges 

List—Il 

(1) Article 40 

(2) Article 73 

(3) Article 245-255 

(4) Article 105 

Code - 

(a) (A)-3, (B)-i, (C)-2, (D)-4 

(b) (A)-4, (B)-1, (C)-2;(D)-3 

(c) (A)-3, (B)-4, (C)-2, (D)-1 

(d) (A)-1, (B)-2, (C)-3, (D)-4 

121. In which case Supreme Court says that, 'Ownership 

is pre-eminently a right'? 

(a) PT. Municchikkanna Reddy vs. Revamma 

(b) B. Gangadhar vs. B.C. Rajalingam 

(c) Bishamber Dayal Chandra Mohan vs. State of 

U.P. 

(d) None of the above 

122. Assertion (A): Custom to have the force of law may 

not continuously be enjoyed. 

Reason (R): Custom represents common 

consciousness of people. 

Select the correct answer - 

(a) Both (A) and (R) are true and (R) is the correct 

explanation of (A) 

(b) Both (A) and (R) true but (R) is not a correct 

explanation of (A) 

(C) (A) is true but (R) is false 

(d) (A) is false but (R) is true 

120. 1 —lI c' Ct) P?T 

1 q  m  T 

(A) ffi?.1T T1F 15T mrr 

(B)lI1 'IrThic1 5T lci'i 

(C) 1 cf) pi4yi1cpj •ff15 5r frw 

(D) 'H'dI IlIcPk 

—Il 

(1)3T 40 

(23T 73 

(3) 245-255 

(4)3T 105 

(a) (A)-3, (B)-1, (C)-2, (D)-4 

(b) (A)-4, (8)-i, (C)-2, (D)-3 

(c) (A)-3, (B)-4, (C)-2, (D)-i 

(d) (A)-1, (B)-2, (C)-3, (D)-4 

121. f i;q TJ JI'lle1-1 * 1b, 

'1I1cc T cp 3TfI5w *'? 

(a) wi T9J 

(b) TTflT FITE . .I'jii1ii 

(C)  Ifcj 9'11 19T'E  31f 

(d) jq .i) 

122. (A): fl E5T 1 frç jii ci,') 

ficp q1I1jci cp.-il JJz 

* I 

kUl (R): JT 4q') ct) *ll9!--i c1'.1I ir 

IIc'1 qcll *1 

'3i'. — 

(a) (A) (R)ci')l') 'Hc 3k (R),(A)q  :It 

I qrcjl  

(b) (A)aft (R) c')j .-lc'-1 * (R),(A)c  

GThB i) cc1I * 

(c) * 

(d) (A)*f (R)c.  * 
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123. 'The greatest happiness for greatest number' is - 

(a) Utilitarian Concept 

(b) Realist Concept 

(C) Positivist Concept 

(d) Analyst Concept 

124. Match list-I and list-Il and select the correct answer 

using the code given below the lists — 

123. '3TtTh51Tf c'i) T &IT5WE E * — 

(a) q-j)[c1lqIcfl vi 

(b) &1T1T 

(C)  1IT Wl.1TU1T 

(d) ltcb 3RvlT 

124. I T —Il 4cu1 

List—I List—Il t1 —ii 

(A) Purpose Theory (1) Salmond (A) i1Ic1 (1) -1I1 

(B) Will Theory (2) Gierke (2)T (B)iT Ricici 
(C) Fiction Theory (3) Ihering 

(C)cPIcLlP1cP Riici (3)1I 
(D) Realist Theory (4) Austin 

Code- 
(D)ZTl1 Fiici (4)3u11 

(a) (A)-4, (B)-3, (C)-1, (D)-2 
- 

(b) (A)-4, (B)-3, (C)-2, (D)-1 
(a) (A)-4, (B)-3, (C)-1, (D)-2 

(b) (A)-4, (B)-3, (C)-2, (D)-1 
(C) (A)-3, 

(d) (A)-3, 

(B)-4, 

(B)-4, 

(C)-1, 

(C)-2, 

(D)-2 

(D)-1 

(c) (A)-3, 

(d) (A)-3, 

(B)-4, 

(B)-4, 

(C)-1, 

(C)-2, 

(D)-2 

(D)-1 

125. Which of the following is an exception to the maxim 

'Ubi jus ibi remedium'? 

(a) Perfect right 

(b) Imperfect right 

(c) Positive right 

(d) Negative right 

126. Which of the following is not correctly matched? 

(a) Law, Liberty and Morality — Fuller 

(b) Social Control through Law — Roscoe Pound 

(c) Levers of social motion — Ihering 

(d) Leviathan — Hobbes 

127. The concept of 'Living Law' was expounded by 

which Jurist? 

(a) Ihering 

(b) Duguit 

(c) Ehrlich 

(d) Roscoe Pound  

125. {[j - * 

1TfT 5T 31cllc 

(a) qu 3TfT?t5R 

(b) 3qtr 3f5f 

(C) .(-jcpjcl-p 3Tf51 

(d) p'Iç-4-cp 

126. iFi1ci Rici .i  *? 

(a),ru1)_tR 

(b) -j)11 cP'3'kt 1T — k1cP' 4l'3'S 

(C) fq ii tii — 

(d) — 

127. tcl 3flU cP'1 f5T 11lI-) 

 f5T *? 

(a) ii 

(b)  

(c) {zi 

(d) cp'l t 
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128. —1 T[?IT u—lI cp') Rici ctt11 3t't-  *1 

11 tii' (Ic T 3Lll'lI CI 

(A) 9I11cI-  3TFF[ 9Il 'cb &IffT1 * qk-I 'M1I 

cI)'clI 

(B)bc-II ,cpI.1ck *c1c ccII t 
(C)1Tt kI 

(D)ckc1cb ct)'  3T'F1 ,*c1cP tR 11II)cpI. 

—ll 

(1)3cLic11c1 CP$JII 

(2)cI{c1 cbGMi 

(3)& cPlI 
(4)l c  cjfl 

cPc — 

(a) (A)-2, (B)-1, (C)-4, (D)-3 

(b) (A)-1, (B)-2, (C)-4, (D)-3 

(C) (A)-2, (B)-4, (C)-3, (D)-1 

(d) (A)-2, (B)-1, (C)-3, (D)-4 

IRci cPI IclI '- III cf'I 

&tr Ic cr'i-t ? 

(a) 'kJ (b) 

(c) (d) rj 

"1Il  f1I 3Iccb FIcI 5T iP1ct 
- ul*l" TT*— 

(a)  T (b) zJ•  1.el. . Ic T5T 

(c) (d) 

f I1 t, 1II cP cp'l 

311 TFE (A) 3ft   ctl cbiUl (R) cPI ILll 

3TTh9 (A):3ci'1t '- lI'?lk'ii  ]T 

3flTP tR -i 9 ffzr ) 

iIi ltcl *1 

cpIUI (R):9TRJ TJ Tt TT 9I-1c1I !lI'-c1 fiI 
l9I- 1I1') ct) I 

 f1 

(a) (A)31 (R)c'I.-1' *Ic 3fi (R),(A)cI) TI 

clII ct)\c1I 

(b) (A) 31(R)1i'i 1c *f5(R),(A)q'l 

clIII 9 cfr çfl 

(c) (A) f$J (R)3fRT 

(d) (A)3*1(R)c* 

0 

0 

cv, 

0 

0 

128. Match list-I with list-li and select the correct answer 

using the code given below the lists — 

List—I 

(A) Principal deposits his goods with an agent 

(B) Buyer purchases books from the shopkeeper 

(C) Owner wearing his watch 

(D) Author's copyright in his work 

List—li 

(1) immediate Possession 

(2) Mediate Possession 

(3) incorporeal Possession 

(4) Corporeal Possession 

Code - 

(a) (A)-2, 

(b) (A)-1, 

(B)-1, 

(B)-2, 

(C)-4, 

(C)-4, 

(D)-3 

(D)-3 

(C) (A)-2, 

(d) (A)-2, 

(B)-4, 

(B)-1, 

(C)-3, 

(C)-3, 

(D)-1 

(D)-4 

129. Who among the following said that witnesses are 

eyes and ears of justice? 

(a) Holland (b) Bentham 

(C) Kelsen (d) Fuller 

130. "Jurisprudence is the scientific synthesis •of the 

essential principle of Law." This statement is of - 

(a) Prof. Allen (b) H.L.A. Hart 

(c) E.W. Patterson (d) Keeton 

131. Given below are two statements, one is labelled as 

Assertion (A) and other as Reason (R). 

Assertion (A): International Court of Justice has 

power to decide cases on the basis 

of equity. 

Reason (R): Equity is one of the general Principle of 

Law recognised by civilized nations. 

Select the correct answer using the code given 

below: 

Code - 

(a) Both (A) and (R) are true and (R) is the correct 

explanation of (A) 

(b) Both (A) and (R) are true but (R) is not the 

correct explanation of (A) 

(c) (A) is true, but (R) is false 

(d) (A) is false, but (R) is true 
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132. Under which Article of the U.N. Charter, the 

members of United Nations have agreed to abide 

by the decisions of the Security Council? 

(a) Article 25 (b) Article 26 

(c) Article 27 (d) Article 28 

133. Match list-I with list-li and select the correct answer 

using the code given below the lists — 

Li st—I 

(A) International Day of Education 

(B) World Environment Day 

(C) World Teachers Day 

(D) International Mother language 

List—Il 

(1) 24 January 

(2) 05 October 

(3) 21 February 

(4) 05 June 

Code -  

132. zIIc f5 atg -ci4ci, 

(a) 25 (b) 26 

(C) 27 (d) Tc 28 

133. —1 cP 11—lI ijlR1cl Ctc11I T1211 

(A) i'1 {IT fT 

(B) W'T tkNi 

(ç)f fi f 

(D)1)I niii 
—II 

(1) 24 M'Ic1' 

(2) 05 tcI' 

(3) 21 1frcl 

(4) 05  

(a) (A)-1, (B)-2, 

(b) (A)-1, (B)-4, 

(C)-3, 

(C)-2, 

(D)-4 

(D)-3 

(a) (A)-1, 

(b) (A)-1, 

(B)-2, 

(B)-4, 

(C)-3, 

(C)-2, 

(D)-4 

(D)-3 

(C) (A)-2, (B)-1, 

(d) (A)-3,(B)-2, 

(C)-4, 

(C)-1, 

(D)-3 

(D)-4 

C) 
(C) (A)-2, 

(d) (A)-3, 

(B)-1, 

(B)-2, 

(C)-4, 

(C)-1, 

(D)-3 

(D)-4 

134. What was the theme of World Human Right 134. fEI II IIcPk fkNf 2021 T 1i'.i cti 

2021? 

(a) Woman Right are Human Rights 

(b) Recovers better -Standup for Human Rights 

(C) Let's standup for equality, justice and hum )  

dignity 

(d) Equality -Reducing inequalities, _______ 
(d) .11I'1c1I — I'1c1I3t c' cp41 cP''1I 

advancing Human Rights 
II1cPI1 c  31Tk I'lI 

135. 1-1I1cI aT1EIT1 1c) fk j)t4u11,  1948 

fir c1c c1i c) siki, *c1clI 

3 1k1cP 11T I5T 3Tfwr tkii t? 

(a) 1 (b) 2 

(c) 31rkk 3 (d) 3k 4 

(a) -I11l MfTT 1-jI-c] &IT5T 1 

(b) 1ci Trr -: I-c1 — 1l-licPk'1 

- (C) 1Ilc1I, - I1 3 1I.1c iRii * frL 

135 Which Article of the Universal Declaration of 

Human Rights, 1948, grant Right to life, liberty and 

security of person? 

(a) Article 1 (b) Article 2 

(C) Article 3 (d) Article 4 
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136. Given below are two statements, one is labelled as 

Assertion (A) and other as Reason (R) - 

Assertion (A): United Nations Charter does not 

authorise United Nations to 

intervene in matters which are 

essentially within the domestic 

jurisdiction of any State. 

Reason (R): This principle shall not prejudice the 

application of enforcement 

measures under chapter VII of the 

U.N. Charter. 

Select the correct answer using the code given 

below- 

(a) Both (A) and (R) are true and (R) is the correct 

explanation of (A) 

(b) Both (A) and (R) are true but (R) is not the 

correct explanation of (A) 

(C) (A) is true but (R) is false 

(d) (A) is false but (R) is true 

137: Russian invasion on Ukraine violates which Article 

of the U.N. Charter? 

(a) Article 1 (4) (b) Article 2 (4) 

(c) Article 3 (d) Article 4 (2) 

138. QUAD (Quadilateral Security Dialogue) Summit, 

2022 was held at which place? 

(a) Japan (b) Australia 

(C) Germany (d) India 

139. In November 2021, which of the following has 

launched a new Journal 'Solar Compass' toenhance 

research on the use of Solar Power? 

(a) United Nations Environment Programme 

(b) Global Green Growth Institute 

(C) International Solar Alliance 

(d) Euro-solar  

136. T f , 1i* cp 

3Zt5?.TJ (A) 3fr It bkul  (R) cIl I1RTF 

i5FT (A): tIIc f5 'lr?l 

3IcicP 1I9c'l'1 

p ¶ cp 

cP'c1l *1 

'cPl'(Ul (R): '4 R1hcl '1,Tt) T1Ic 3T -21TZE 

VII '3IvlIc1 1cIcp '3gI-Il 

tR .P .11qcI VTFI 3c1'I 

PII I 

f   C — 

(a) (A)3ft (R)'1l dcLf * 3ft (R),(A)c1 Tt 

I's1I 4c1I * 

(b) (A) 3ft (R) H'1 'dcI *f5 (R),(A)cI) Tt 

cll 'l ctrccll * 

(c) (A)'1c  *5(R)3Tli* 

(d) (A)3TTZf *f5 (R)1c4 * 

137. ir tR  T5T 3llcP41Ul  1P 1lc 

r ii *? 

(a) 1 (4) (b) 31Tk 2 (4) 

(C) 31ic3 (d) 31c4(2) 

138. QUAD (r3i 'IT iciq)  IksN 142IcI.I, 2022 

ff 1TT tR 2r1 I 1iI ci fZ1T I -t I 

(a) lYl - (b) aiR1Il 

(C) j4.4'l (d) TRT 

139. iRRcci 2021 *fl 1 

3gl t T ikiRi1i   'q  

u1-T 1I[IcPI '-i'iei cI1 iT.z1 cI1 *? 

(a) jp ii qjcUl q,i4ti 

(b) f 1II  IcPN9 

(C) 

(d) 



140. Who can request the International Court of Justice 

to give advisory opinion on any legal question? 

(a) The General Assembly of United Nations 

(b) The highest Court of Justice of any Nation 

(c) Any permanent member of the Security 

Council 

(d) Any member of United Nations 

141. Assertion (A): International Organizations play a 

very important role in maintaining 

peace. 

Reason (R): Countries have conflicts and 

differences with each other. 

Select the correct answer — 

(a) Both (A) and (R) are true and (R) is the correct 

explanation of (A) 

(b) Both (A) and (R) are true but (R) is not the 

correct explanation of (A) 

(C) (A) is true but (R) is false 

(d) (A) is false but (R) is true 

142. Which of the following executes the decision of 

International Court of Justice? 

(a) Military Staff Committee 

(b) General Assembly 

(c) International Court of Justice itself 

(d) Security Council 

143. Match list—I with list—Il and give correct answer by 

using the code given below the lists — 

List—I 

(A) Composition of General Assembly 

(B) Composition of Security Council 

(C) Composition of Economic and Social Council 

(D) Composition of Trusteeship Council 

List—li 

(1) Article 9 

(2) Article 61 

(3) Article 86 

(4) Article 23 

Code - 

(a) (A)-1,(B)-2,(c)-3,(D)-4 

(b) (A)-1,(B)-4,(C)-2,(D)-3 

(c) (A)-2,(B)-3,(C)-4,(D)-1 

(d) (A)-3,(B)-2,(C)-4,(D)-1  

140. f;5 f!fl !A'1 tR t I-k'i 
qi41cpI) 11zii 1 15T 3T1T qj  -IcPc1I 

(a) p   qc 

(b) f11 ii i 

(C)  gRg cp'l i4 *ic - 1 

141. 3Tf1FN (A): HIc1 iiRi u1T1tT 

iT uu1 4jjpI 3tT 

(l l 

c4,IUl (R): T'1 -1 c.cP'icI I.cI TP'1 

1I I 

(a) (A)aitz (R)cH'i 1c'I * 3ft (R),(A)  TT 

I&-ll cP'clI * 

(b) (A)3 (R)4'l'l'i cLi (R),(A) 

cIl  cjçfl 

(C) 

(d) (A)Etf (R)Hcl * 

142. I;IIsld cl 1li ILfl clI 

t) 1-1I1c1 4c1I 

(a)  

(b)  

(C) *ci II imi 

(d) .'jj 

143. q —ll [Iç qc)f [T 

l2 c 1I-lcII 

(A) 41I 11T 5T flcl 

(B) 'IT LI14c T Idl 

(C) 31Tf tci I9I1icp g tc 5T Ic'-1 

(D) '-LUIic1I gRi T 4 icsi 

—ll 

(1) 9 

(2) ig 61 

(3) Tkc 86 

(4) zkc 23 
- 

(a) (A)-1,(B)-2,(C)-3,(D)-4 

(b) (A)-1,(B)-4,(C)-2,(D)-3 

(c) (A)-2,(B)-3,(c)-4,(D)-1 

(d) (A)-3,(B)-2,(C)-4,(D)-1 
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144. The Headquarter of the 'World Intellectual 144. 'f sfl(cp -iicI 11Ici' ji si.iic't-i fir 

Property Organization' is located in - * 

(a) Paris (b) Madrid (a) IftT (b) ifg 
(C) New York (d) Geneva (C) -iict (d) lciI 

145. Which one of the following pair is correctly 145. -lRiRc1 tiiii  'IIici *? 

matched? (a) cjiq —Tt 9') lTT 1 -lIl CLlcII 

(a) Apartheid —Treating all the people as equals 

(b) Article 38 of the Statute of International Court 

of Justice — Sources of International Law 

(c) Number of Judges in International Court of 

Justice — 20 

(d) The Seat of International Court of Justice — 

Paris 

146. Which Article of U.N. Charter provides for the 

- expulsion of the member state? 

(a) Article 4 (b) Article 5 

(C) Article 6 (d) Article 7 

147. Match list—I with list—Il and select the correct 

answer using the code given below the lists — 

(A)  

(B)  

(C)  

(D)  

(1) 

(2)  

(3)  

Court of Justice 

(4) Domestic Jurisdiction Clause 

Code - 

(a) (A)-3,(B)-2,(C)-1,(D)-4 

(b) (A)-4,(B)-1,(C)-2,(D)-3 

(C) (A)-3,(B)-1,(C)-2,(D)-4 

(d) (A)-4,(B)-2,(C)-1,(D)-3 

cP1l 

(b) iJ .1RlIQ1Ll itmTr T5T 

38 —3 fii 

(c) ihi 'l'1lQ1-1 '.iii q) 'ls-1I —20 

(d) 1I'4le1'l cPI T1F — 

146. ctizi 'i  t1l fp 

 * PltxpkF1 r wur fzu ILll 

(a) 4 (b) 3.-tiq5 

(c) 3-zg6 (d) c7 

147 Tl cp' —ll Rici C1II ri 

* f — 

zq 2(7) '1ctc1 z 

tc 4(2) cl1 'l tllc 

tc 33 1cl1 tllc 

tc 36(3) 1cl1 T' c4' 

T)—II 

1,ctc1 'l's-1 '1c*'I l'1l-Il 'ill'lI 

1ll 15T lIR11 U1 I'-icI'I 

ffl 1g'i r 311-1 IL1lc'11 cp'l 

Pi1 f5zlT 'ill'll 

(4) 31h-c1IcP 3Ff1T '3T 

 - 

(a) (A)-3,(B)-2,(C)-1,(D)-4 

(b) (A)-4,(B)-1,(C)-2,(D)-3 

(C) (A)-3,(B)-1,(C)-2,(D)-4 

(d) (A)-4,(B)-2,(C)-1,(D)-3 

List—I 

Article 2(7) U.N. Charter 
(A)  

Article 4(2) U.N. Charter 
(B)  

Article 33 U.N. Charter 
(C)  

Article 36(3) U.N. Charter 
(D)  

List—Il 

Admission of a State into U.N. 

Pacific settlement of disputes 
(1)  

(2)  
Legal disputes to be submitted to International 

(3)  
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148. The concept of 'Double Veto' has been provisioned 

under which of the following Article of U.N. 

Charter? 

(a) Article 24 (b) Article 27 

(C) Article 28 (d) Article 29 

149. The official language of International Court of 

justice is - 

(a) French and English (b) English and Chinese 

(c) English and German (d) English and Russian 

150. Match list—I with list—Il and select the correct 

answer by using the code given below the lists —  

148. ctci   * 3T11ftcci f19 31zkc 

'q  friii 1T T1T1T 

(a) 24 (b) 31jr.k4 27 

(C) kc 28 (d) 29 

149. .-LlIç q  TPlTT — 

(a)  (b) 

(C) i4.i (d) 

150. —lcP'1 —Il 1ici 

List—I List—Il tt1—II 
(A) UNESCO (1) Geneva 

(A) (1) '.I1'iI 
(B) LL.O. (2) U.S.A. 

(B) 3PE '1Ic1 (2) 
(C) I.M.F. (3) Netherland 

(C) I cb'I (3) -)cçk 
(D) l.C.J. (4) Paris 

Code - 
(4) itftr (D) 1 I1IcI'-I 

(a) (A)-1,(B)-2,(c)-3,(D)-4 

(b) (A)-4,(B)-1,(C)-2,(D)-3 
(a) (A)-1,(B)-2,(C)-3,(D)-4 

(C) (A)-2,(B)-3,(C)-1,(D)-4 
(b) (A)-4,(B)-1,(C)-2,(D)-3 

(d) (A)-1,(B)-4,(C)-2,(D)-3 
(C) (A)-2,(B)-3,(C)-1,(D)-4 

(d) (A)-1, (B)-4,(c:)-2, (D)-3 
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I'll' I'll I'll III III II I II 

Space for Rough Work/'9 cpi4 
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III II III'' liii I'll III III II 

Space for Rough work/q5 cpJ 1I'  
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2022 

SERIES 

A 
Time : 2 Hours 

IIIIIIII "II I'll II II HI III 

DO NOT OPEN TifiS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO. 

CODE : FOXTROT -16 

SUBJECT: LAW 

Max. Marks : 300 

Write your Roll Number 

in the box 

In numbers 

In words 

To mark Answer use Black Ball—point pen only. 
Candidate must read all the instructions before writing the answers. 
You are to mark your answer on Answer-Sheet. only. Alter the examination is over, handover the original Answer-Sheet 

to the Invigilator. 
IMPORTANT INSTRUCTIONS  

1. Answer all questions. All questions caiy equal marks. 

2. The Candidate should indlicate the correct Roll Number, Subject, Paper Code and its Series on the Answer-Sheet, 
otherwise the Answer-Sheet will not be evaluated and candidate will be solely responsible for it. 

3. This Test Booklet contains 150 questions. Each question has four (4) options which are given below the questions. 

Only one option is correct out of four. You are required to darken the circle corresponding to the alternative which you 

consider to be the correct or most appropriate answer in the Answer-Sheet by Black Ball-Point Pen. 

4. Do not write anything on the cover page of the Test Booklet except Roll Number. Use the space for rough work given 

in the last two pages of Test Booklet. 

5. In this question booklet all questions are printed in both English and Hindi languages. In case of any ambiguity in the 

question, the English version of the question shall prevail. 

6. If you happen to find that the Booklet issued to you does not have all the pages properly printed or it has any other 
deficiency, then you need to approach tle Invigilator to get another Test Booklet of same Series and Code. 

7. Penalty for wrong answers:  

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE ANSWER 

SHEET. 

There are four alternatives for the answer to every question. For each question for which a wrong answer 

has been given by the candidate, one-third of the marks assigned to that question will be deducted as 

penalty. 
II a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given 
answers happens to be correct and there will be same penalty as above to that question. 
if a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that 

question. 

DO NOT OPEN TillS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO. 

&I : aj r qici' i ,Rcicpi TT R  I 
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